City of Frisco Best Value Bid 1905-082 Body Armor Outlet, LLC Galls, LLC GT Distributors Fire Department Uniforms 26 Ermer Rd 1340 Russell Cave Rd 2545 Brockton Dr. Ste 100 Opened 06/20/19 2:00pm CST Salem, NH 03079 Lexington, KY 40505 Austin, TX 78757 888-884-2427 800-876-4242 1-800-252-8310 Pete@bodyarmoroutlet.com Dahlke-elise@galls.com txbids@gtdist.com Peter Tsolakos Michael Wessner David Curtis Description UNIT PRICE EXTENDED PRICE UNIT PRICE EXTENDED PRICE UNIT PRICE EXTENDED PRICE Item Manufacturer Quantity Bidding Entity Department Logo Embroidered 50 \$8.50 \$425.00 \$575.00 \$500.00 \$11.50 \$10.00 \$2,000,00 \$3,500,00 \$1,600,00 Name tane embroidered on like material \$5.00 Ridding Entity 400 \$8.75 \$4.00 Rank tape embroidered on like material 400 \$5.00 \$2,000.00 \$8.75 \$3,500.00 \$4.00 \$1,600.00 Bidding Entity 100 \$5.00 \$7.75 \$775.00 \$4.00 \$400.00 Biddina Entity Name direct embroidered \$500.00 \$5.00 \$375.00 \$300.00 \$581.25 Bidding Entity Rank direct embroidered \$7.75 \$4.00 Bidding Entity Name/Rank tape embroidered on like material 125 \$5.00 \$625.00 \$1,093.75 \$937.50 \$8.75 \$7.50 Bidding Entity Single bugle direct embroidered on collar 50 \$3.00 \$150.00 \$8.25 \$412.50 \$5.00 \$250.00 Bidding Entity 2 vertical bugles direct embroidered on collar \$3.25 \$162.50 \$8.25 \$412.50 \$5.00 \$250.00 Bidding Entity 2 crossed bugles direct embroidered on collar \$3.25 \$32.50 \$82.50 \$5.00 \$50.00 \$8.25 Bidding Entity 3 crossed bugles direct embroidered on collar \$3.25 \$16.25 \$8.25 \$41.25 \$5.00 \$25.00 Bidding Entity 4 crossed bugles direct embroidered on collar \$3.25 \$19.50 \$8.25 \$49.50 \$5.00 \$30.00 Bidding Entity 5 crossed bugles direct embroidered on collar \$3.25 \$13.00 \$8.25 \$33.00 \$5.00 \$20.00 Bidding Entity FD badge w/1 bugle embroidered on item \$8.00 \$40.00 \$11.25 \$56.25 \$10.00 \$50.00 Bidding Entity FD badge w/2 vertical bugles embroidered on item \$8.00 \$32.00 \$11.25 \$45.00 \$10.00 \$40.00 Bidding Entity FD badge w/2 crossed bugles embroidered on item \$8.00 \$64.00 \$11.25 \$90.00 \$10.00 \$80.00 Bidding Entity FD badge w/3 crossed bugles embroidered on item \$8.00 \$40.00 \$11.25 \$56.25 \$10.00 \$50.00 Bidding Entity FD badge w/4 crossed bugles embroidered on item 8 \$8.00 \$64.00 \$11.25 \$90.00 \$10.00 \$80.00 Bidding Entity FD badge w/5 crossed bugles embroidered on item \$8.00 \$40.00 \$11.25 \$56.25 \$10.00 \$50.00 Bidding Entity Emergency Medical Technician Patch (EMT-B) 50 \$8.00 \$400.00 \$3.00 \$150.00 \$2.50 \$125.00 Paramedic Patch (Certified PM) 200 \$8.00 \$1,600.00 \$3.00 \$600.00 \$2.50 \$500.00 Bidding Entity Licensed PM patch including sew on \$10.25 \$512.50 \$175.00 \$125.00 Bidding Entity Department patch \$3.00 \$1,500.00 \$1.750.00 \$1,495.00 500 \$3.50 \$2.99 Cost to sew on Department patch Bidding Entity 100 \$1.50 \$150.00 \$350.00 \$100.00 \$1.00 \$3.50 Pant length alterations 50 \$4.50 \$225.00 \$387.50 \$400.00 \$7.75 \$8.00 idding Entity Dress Coat Years of Service Stars - Silver \$12.00 \$1,500.00 \$2,250.00 \$312.50 125 \$18.00 \$2.50 ress Coat Years of Service Stars - Gold dding Entity 85 \$12.00 \$1.020.00 \$1,530.00 \$212.50 \$2.50 \$18.00 Dress coat - 1 gold full circle stripe on each sleev \$9.00 \$99.00 \$231.00 \$220.00 \$21.00 \$20.00 \$9.00 \$63.00 \$26.00 \$182.00 \$185.50 \$26.50 Biddina Entity Dress coat - 2 gold full circle stripes on each sleeve \$9.00 \$45.00 \$165.00 Biddina Entity Dress coat - 3 gold full circle stripes on each sleeve \$31.00 \$155.00 \$33.00 \$45.00 \$165.00 \$197.50 Biddina Entity Dress coat - 4 gold full circle stripes on each sleeve \$9.00 \$33.00 \$39.50 \$35.00 Dress coat - 5 gold full circle stripes on each sleeve \$9.00 \$45.00 \$175.00 \$230.00 Bidding Entity

Sub Tota

Outy Uniforms

22	Plauor	Quarter Zip Front Job Shirt, Black or Fire Navy	i	ı	i]	
33	Blauer		100			\$72.50	\$7,250.00	\$68.00	\$6,800.00
34	Blauer	Dress Shirt Blue or White	100			\$43.50	\$4,350.00	\$41.00	\$4,100.00
35	Dickies	Industrial Flat Front Pant	100			\$16.75	\$1,675.00	\$24.99	\$2,499.00
36	Workrite	Men's Firefighter Pant	60			\$110.50	\$6,630.00	\$115.00	\$6,900.00
37	Workrite	Men's Firefighter Pant	100			\$130.00	\$13,000.00	\$115.00	\$11,500.00
38	Workrite	Men's Full Cut Firefighter Pant	350			\$113.50	\$39,725.00	\$118.00	\$41,300.00
39	Workrite	Men's Full Cut Firefighter Pant	160			\$133.00	\$21,280.00	\$118.00	\$18,880.00
40	Workrite	Women's Firefighter Pant	13			\$110.50	\$1,436.50	\$115.00	\$1,495.00
41	Workrite	Women's Firefighter Pant	5			\$130.00	\$650.00	\$115.00	\$575.00
42	Workrite Workrite	Men's Firefigher Shirt, S/S	400			\$93.00 \$114.50	\$37,200.00 \$5.725.00	\$98.50 \$98.50	\$39,400.00 \$4,925.00
43	Workrite	Men's Firefigher Shirt, S/S Men's Firefigher Shirt, S/S	50 4			\$114.50 \$114.50	\$5,725.00 \$458.00	\$98.50 \$98.50	\$4,925.00 \$394.00
45	Workrite	Women's Firefigher Shirt, S/S	15			\$92.50	\$1,387.50	\$98.50	\$1,477.50
46	Workrite	Women's Firefigher Shirt, S/S	15			\$111.50	\$1,672.50	\$98.50	\$1,477.50
47	Workrite	Men's Firefigher Shirt, L/S	50			\$113.25	\$5,662.50	\$124.50	\$6,225.00
48	Workrite Workrite	Men's Firefigher Shirt, L/S	25			\$143.25 \$143.25	\$3,581.25 \$1,432.50	\$124.50	\$3,112.50 \$1,245.00
49 50	Workrite	Men's Firefigher Shirt, L/S Men's Firefigher Shirt, L/S	10 25			\$143.25 \$143.25	\$3,581.25	\$124.50 \$124.50	\$1,245.00
51	Workrite	Men's Firefigher Shirt, L/S	10			\$143.25	\$1,432.50	\$124.50	\$1,245.00
52	Workrite	Men's Firefigher Shirt, L/S	2			\$143.25	\$286.50	\$124.50	\$249.00
53	Workrite	Men's Firefigher Shirt, L/S	25			\$143.25	\$3,581.25	\$124.50	\$3,112.50
54	Workrite	Men's Firefigher Shirt, L/S	10			\$143.25	\$1,432.50	\$124.50	\$1,245.00
56	Workrite Workrite	Men's Firefigher Shirt, L/S Men's Fire Chief Shirt, S/S	10			\$143.25	\$1,432.50 \$7,800.00	\$124.50	\$1,245.00
50		·	80			\$97.50	4-1000	\$106.50	\$8,520.00
5/	Workrite	Nomex Shirt - Light Blue	80			\$108.50	\$8,680.00	\$126.50	\$10,120.00
58	Workrite	Nomex Shirt - LS - Light Blue	30			\$116.50	\$3,495.00	\$130.50	\$3,915.00
59	Workrite	Men's Fire Chief Shirt, L/S	12		_	\$111.00	\$1,332.00	\$124.50	\$1,494.00
60	Workrite	Men's Fire Chief Shirt, L/S	12			\$140.00	\$1,680.00	\$124.50	\$1,494.00
61	Workrite	Tecasefe S/S Polo	150 20			\$84.00	\$12,600.00 \$1,830.00	\$71.00 \$78.00	\$10,650.00 \$1.560.00
63	Workrite Workrite	Tecasafe L/S Polo Rescue Pant	20 50			\$91.50 \$148.00	\$1,830.00 \$7.400.00	\$78.00 \$149.00	\$1,560.00 \$7.450.00
64	5.11	Job Shirt w/Canvas Details, Fire Navy	65			\$56.00	\$3,640.00	3147.00	\$1,430.00
65	5.11	Job Shirt w/Canvas Details, Fire Navy	15			\$63.00	\$945.00		
66	5.11	Job Shirt w/Canvas Details, Fire Navy	1			\$63.00	\$63.00		
67	5.11 5.11	Job Shirt w/Canvas Details, Fire Navy	75			\$64.50	\$4,837.50		
68	5.11 5.11	Job Shirt w/Canvas Details, Fire Navy Job Shirt w/Canvas Details, Fire Navy	18 20			\$64.50 \$64.50	\$1,161.00 \$1,290.00		
70	5.11	Job Shirt w/Canvas Details, Fire Navy	75			\$56.50	\$4,237.50		
71	5.11	Men's Taclite Pro Ripstop Pants-All Color options	25			\$46.00	\$1,150.00		
72	5.11	Men's Taclite Pro Ripstop Pants-All Color options	5			\$55.00	\$275.00		
73	5.11	Men's Taclite Pro S/S Various Colors	25			\$44.50	\$1,112.50		
74	5.11 5.11	Men's Taclite Pro S/S Various Colors Men's Taclite Pro S/S Various Colors	10			\$52.00 \$52.00	\$520.00 \$780.00		
76	5.11	Men's Tacille Pro 5/5 Various Colors Men's Tacille Pro L/S Various Colors	15 15			\$52.00 \$50.00	\$750.00		
77	5.11	Men's Taclite Pro L/S Various Colors	15			\$54.00	\$810.00		
78	5.11	Men's Taclite Pro L/S Various Colors	50			\$54.00	\$2,700.00		
79	5.11	Men's Tactical Jersey Polo-All Colors	50			\$37.00	\$1,850.00		
80	5.11	Men's Tactical Jersey Polo-All Colors	50			\$52.00	\$2,600.00		
87	5.11 5.11	Quarter Zip Front Job Shirt, Black or Fire Navy Quarter Zip Front Job Shirt, Black or Fire Navy	50 50			\$56.00 \$65.00	\$2,800.00 \$3,250.00		
83	5.11	Quarter Zip Front Job Shirt, Black or Fire Navy	50			\$64.00	\$3,200.00		
84	5.11	Tactical Fleece Watch Cap, Black	50			\$13.75	\$687.50		
85	5.11	Tactical 4 in 1 Patrol Jacket, Black	50			\$230.00	\$11,500.00		
86	5.11	Tactical 4 in 1 Patrol Jacket, Black	50			\$236.00	\$11,800.00		
88	5.11 5.11	Men's Professional Polo S/S (all colors) Men's Professional Polo S/S (all colors)	50 50			\$37.00 \$41.00	\$1,850.00 \$2,050.00		
89	5.11	Men's Professional Polo S/S (all colors) Men's Professional Polo S/S (all colors)	50			\$41.00 \$41.00	\$2,050.00		
90	5.11	Men's Professional Polo L/S (all colors)	10			\$42.00	\$420.00		
91	5.11	Men's Professional Polo L/S (all colors)	50			\$46.50	\$2,325.00		
92	5.11	Men's Professional Polo L/S (all colors)	50			\$46.50	\$2,325.00		
93	5.11	Men's Performance Polo S/S	50			\$37.00	\$1,850.00 \$1.950.00		
74 95	5.11 5.11	Men's Performance Polo S/S Men's Performance Polo S/S	50 50			\$39.00 \$41.00	\$1,950.00 \$2,050.00		
96	5.11	S/S T-Shirt - Navy	300			\$18.75	\$5,625.00		
97	5.11	L/S T-Shirt - Navy	100			\$24.00	\$2,400.00		
98	5.11	Professional Polo L/S - Navy	15			\$41.00	\$615.00		
99	5.11	Professional Polo S/S - Navy	15			\$44.00	\$660.00		
100	5.11 5.11	S/S White Polo Job Shirt	30 30			\$41.00 \$57.00	\$1,230.00 \$1,710.00		
102	5.11	S/S Chief Shirt - White	30			\$45.00	\$1,710.00		
103	5.11	L/S Chief Shirt - White	30			\$48.00	\$1,440.00		
104	5.11	Water Resistant 1/4 zip Job Shirt	125			\$68.00	\$8,500.00		
105	5.11	Tactical Stryke Pant	50			\$74.00	\$3,700.00		
106 107	5.11	Tactical Stryke Pant Uniform Polo - Grev	50 10			\$72.00 \$17.75	\$3,600.00 \$177.50		
107	Propper Hanes	Uniform Polo - Grey T-Shirt, S/S, Navy	10 50			\$17.75 \$5.75	\$177.50 \$287.50		
109	Flying Cross	S/S Chief Shirt - White	20			\$34.00	\$680.00	\$31.00	\$620.00
	Flying Cross	L/S Chief Shirt - White	20			\$44.00	\$880.00	\$37.50	\$750.00
110									

111			30		\$1,728.00	\$50.00	\$1.500.00		
	Lion	S/S Chief Shirt - White		\$57.60					
112	Lion	L/S Chief Shirt - White	30	\$63.00	\$1,890.00	\$55.00	\$1,650.00		
	Port & Company	Adult S/S Essential T-Shirt, 100% Soft Spun Cotton, Navy	50			\$11.50	\$575.00	\$6.85	\$342.50
114	Port & Company	Adult S/S Essential T-Shirt, 100% Soft Spun Cotton, Navy	50			\$14.25	\$712.50	\$9.99	\$499.50
115	Port & Company	Adult S/S Essential T-Shirt, 100% Soft Spun Cotton, Navy	50			\$14.75	\$737.50	\$10.50	\$525.00
116	Port & Company	Adult S/S Essential T-Shirt, 100% Soft Spun Cotton, Navy	50			\$15.50	\$775.00	\$10.75	\$537.50
117	Hanes	Beefy T-Shirt, S/S, Any Color	50			\$11.95	\$597.50		
118	Hanes	Adult S/S Beefy-T, 100% Ring Spun Cotton, Any Color	50			\$11.50	\$575.00	\$6.15	\$307.50
119	Hanes	Adult S/S Beefy-T, 100% Ring Spun Cotton, Any Color	50			\$14.50	\$725.00	\$7.95	\$397.50
120	Hanes	Adult S/S Beefy-T, 100% Ring Spun Cotton, Any Color	50			\$14.50	\$725.00	\$8.95	\$447.50
121	Hanes	Beefy T-Shirt, L/S, Any Color	50			\$10.50	\$525.00		
122	Hanes	Adult L/S Beefy-T, 100% Ring Spun Cotton, Any Color	50			\$10.50	\$525.00	\$9.30	\$465.00
123	Hanes	Adult L/S Beefy-T, 100% Ring Spun Cotton, Any Color	50			\$11.00	\$550.00	\$10.95	\$547.50
124	Hanes	Adult L/S Beefy-T, 100% Ring Spun Cotton, Any Color	50			\$12.00	\$600.00	\$11.95	\$597.50
125	Hanes	Beefy T-Shirt, L/S Tall, Any Color	50			\$0.00	\$0.00	\$0.00	\$0.00
126	Hanes	Beefy T-Shirt, S/S Pocketed, 100% Cotton, Any Color	50			\$10.95	\$547.50	\$7.85	\$392.50
127	Hanes	Beefy T-Shirt, S/S Pocketed, 100% Cotton, Any Color	50			\$13.50	\$675.00	\$9.85	\$492.50
128	Hanes	Beefy T-Shirt, S/S Pocketed, 100% Cotton, Any Color	50			\$13.50	\$675.00	\$10.85	\$542.50
129	Gildan	T-Shirt, S/S Pocketed, 100% Cotton, Any Color	50			\$8.00	\$400.00	\$7.35	\$367.50
130	Gildan	T-Shirt, S/S Pocketed, 100% Cotton, Any Color	50			\$11.00	\$550.00	\$10.50	\$525.00
131	Gildan	T-Shirt, S/S Pocketed, 100% Cotton, Any Color	50			\$14.00	\$700.00	\$11.50	\$575.00
132	Gildan	T-Shirt, S/S Pocketed, 100% Cotton, Any Color	50			\$15.00	\$750.00	\$12.89	\$644.50
133	Hanes	T-Shirt, L/S Pocketed Tagless Comfort Soft, Any Color	50			\$10.75	\$537.50		
134	Hanes	T-Shirt, L/S Pocketed Tagless Comfort Soft, Any Color	50			\$12.25	\$612.50		
135	Hanes	T-Shirt, L/S Pocketed Tagless Comfort Soft, Any Color	50			\$13.50	\$675.00		
136	Gildan	T-Shirt, L/S Pocketed, 100% Cotton, Any Color	50			\$12.00	\$600.00	\$9.85	\$492.50
137	Gildan	T-Shirt, L/S Pocketed, 100% Cotton, Any Color	50			\$15.00	\$750.00	\$11.50	\$575.00
138	Gildan	T-Shirt, L/S Pocketed, 100% Cotton, Any Color	50			\$16.00	\$800.00	\$12.75	\$637.50
139	Gildan	T-Shirt, L/S Pocketed, 100% Cotton, Any Color	50			\$17.00	\$850.00	\$13.85	\$692.50
140	Gildan	T-Shirt, L/S Pocketed, 100% Cotton, Any Color	50			\$17.00	\$850.00	\$15.00	\$750.00
141	Hanes	Ultimate Cotton Crewneck Sweatshirt - Any Color	50			\$19.00	\$950.00	\$14.65	\$732.50
142	Hanes	Ultimate Cotton Crewneck Sweatshirt - Any Color	50			\$26.50	\$1,325.00	\$19.85	\$992.50
143	Hanes	Ultimate Cotton Heavyweight Pullover Hoodie	125			\$16.75	\$2.093.75		
144	Outdoor Cap	Wool Ball Cap - Any Color	50			\$12.00	\$600.00		
	Outdoor Cap	Strechable Mesh Ball Cap - Any Color	50			\$24.50	\$1,225.00		
146	KC Caps	96% Cotton, 4% Spandex Any color	50			\$5.50	\$275.00		
	KC Caps	NuFit Logo flex sweatband any color	50		İ	\$6.00	\$300.00		
148	KC Caps	Long Knit Beanie, Navy	50			\$4.35	\$217.50		
149	KC Caps	Short Knit Beanie	50			\$4.00	\$200.00		
	KC Caps	Acrylic Beanie, 12" long - Any Color	50		İ	\$15.00	\$750.00		
151	Blauer	Men's Short Side Pocket Poly/Cotton Blend	50			\$55.50	\$2,775.00	\$58.50	\$2,925.00
152	Blauer	Men's Short Side Pocket Poly/Cotton Blend	50			\$58.50	\$2,925.00	\$76.05	\$3,802.50
153	Blauer	Men's 4-Pocket Pant Poly/Cotton Blend	50			\$55.50	\$2,775.00	\$58.50	\$2,925.00
154	Blauer	Women's Short Side Pocket Poly/Cotton Blend	50		İ	\$55.50	\$2,775.00	\$58.50	\$2,925.00
155	Blauer	TENX Tactical Pant	50			\$54.00	\$2,700.00	\$44.99	\$2,249.50
156	Blauer	TENX Tactical Shorts	50			\$47.00	\$2,350.00	\$44.99	\$2,249.50
			Sub Total		İ		\$366,344.50		\$239,243.00
	Winter Coats		222 1000						

157									
159	Blauer	Crosstech Response Jacket	40			\$335.00	\$13,400.00	\$283.49	\$11,339.60
130	Blauer	Crosstech 3 in 1 Response Jacket	1			\$318.00	\$318.00	\$341.99	\$341.99
159	Blauer	Crosstech 3 in 1 Response Jacket	5			\$429.00	\$2,145.00	\$444.58	\$2,222.90
160	Blauer	Crosstech 3 in 1 Response Jacket	1			\$429.00	\$429.00	\$341.99	\$341.99
161	Blauer	Crosstech 3 in 1 Response Jacket	9			\$429.00	\$3,861.00	\$444.58	\$4,001.22
162	Blauer	Crosstech 3 in 1 Response Jacket - Hi Vis Yellow	10			\$350.00	\$3,500.00	\$368.99	\$3,689.90
163	Blauer	Crosstech 3 in 1 Response Jacket - Hi Vis Yellow	1			\$455.00	\$455.00	\$479.69	\$479.69
164	Blauer	Crosstech 3 in 1 Response Jacket - Hi Vis Yellow	5			\$350.00	\$1,750.00	\$368.99	\$1,844.95
165	Blauer	Crosstech 3 in 1 Response Jacket - Hi Vis Yellow	1			\$455.00	\$455.00	\$479.69	\$479.69
166	Blauer	Hi-Vis Supershell Jacket with Gore-tex	2			\$325.00	\$650.00	\$328.49	\$656.98
167	Blauer	Hi-Vis Supershell Jacket with Gore-tex	1			\$415.00	\$415.00	\$427.03	\$427.03
168	Blauer	Hi-Vis Supershell Jacket with Gore-tex	5			\$325.00	\$1,625.00	\$328.49	\$1,642.45
169	Blauer	Hi-Vis Supershell Jacket with Gore-tex	1			\$450.00	\$450.00	\$427.03	\$427.03
170	Blauer	Tac Shell Jacket	52			\$214.00	\$11,128.00	\$215.99	\$11,231,48
171	Blauer	Tac Shell Jacket	1	İ		\$254.00	\$254.00	\$215.99	\$215.99
172	Blauer	Fleece Jacket	5	+	1	\$65.00	\$325.00	\$58.49	\$292.45
173	Blauer	Fleece Jacket	1				\$325.00		\$292.45 \$76.00
174		Soft Shell Fleece Jacket				\$73.00	\$6,084.00	\$76.00	\$5.615.48
	Blauer		52			\$117.00		\$107.99	
175	Blauer	Soft Shell Fleece Jacket	1			\$127.00	\$127.00	\$140.39	\$140.39
176	Blauer	Colorblock Soft Shell Fleece Jacket	5			\$127.00	\$635.00	\$121.49	\$607.45
177	Blauer	Colorblock Soft Shell Fleece Jacket	1			\$142.00	\$142.00	\$157.95	\$157.95
178	Blauer	Lightweight B-dry Jacket - Navy Blue	2			\$136.00	\$272.00	\$134.99	\$269.98
179	Blauer	Lightweight B-dry Jacket - Navy Blue	1			\$182.00	\$182.00	\$175.48	\$175.48
180	Blauer	Lightweight B-dry Jacket - Navy Blue	1			\$145.00	\$145.00	\$134.99	\$134.99
181	Blauer	Lightweight B-dry Jacket - Navy Blue	1			\$182.00	\$182.00	\$175.48	\$175.48
182	Blauer	Superlight Hi-Vis Shell Jacket	5			\$205.00	\$1,025.00	\$193.49	\$967.45
183	Blauer	Superlight Hi-Vis Shell Jacket	5			\$220.00	\$1,100.00	\$193.49	\$967.45
184	Blauer	Superlight Hi-Vis Shell Jacket	5			\$235.00	\$1,175.00	\$193.49	\$967.45
185	Blauer	Softshell Fleece Pullover	5	İ		\$65.00	\$325.00	\$58.49	\$292.45
186	Blauer	Softshell Fleece Pullover	5	1	1	\$70.00	\$350.00	\$76.03	\$380.15
187	Blauer	Softshell Fleece Pullover	, , , , , , , , , , , , , , , , , , ,	1	1	\$79.00	\$395.00	\$76.03	\$380.15
188	Dickies	Diamond Quilted Jacket	5		+	\$40.00	\$200.00	\$39.99	\$199.95
100	DIUNICS	Diamond Quinted Jacket	Sub Total			\$10.00	\$53,572,00	\$37.77	\$51,143.59
L	Dress Uniforms		Sub Iola				\$33,372.00		301,143.07
189	Blauer	Dress Shirt - L/S Cotton Blend	110	1	1	\$43.00	\$4 730 00	\$40.49	\$4 453 90
						\$53.00 \$53.00	+1,100000	******	\$4,453.90 \$526.50
190	Blauer	Dress Shirt - L/S Cotton Blend	10			\$53.00 \$43.00	\$530.00	\$52.65	
191	Blauer	Women's Dress Shirt - L/S Cotton Blend	5			910.00	\$215.00	\$40.49	\$202.45
192	Blauer	Women's Dress Shirt - L/S Cotton Blend	1			\$43.00	\$43.00	\$52.65	\$52.65
193	Blauer	Dress Shirt - S/S Cotton Blend	90			\$36.00	\$3,240.00	\$35.99	\$3,239.10
194	Blauer	Dress Shirt - S/S Cotton Blend	10			\$46.00	\$460.00	\$46.79	\$467.90
195	Blauer	Dress Shirt - S/S Cotton Blend	10			\$41.00	\$410.00	\$35.99	\$359.90
196	Blauer	Dress Shirt - S/S Cotton Blend	1			\$66.00	\$66.00	\$46.79	\$46.79
197	Blauer	Women's Dress Shirt - S/S Cotton Blend							
		Mother 2 Diess Still - 2/2 Cotton Biena	1			\$36.00	\$36.00	\$35.99	\$35.99
198	Blauer	Women's Dress Shirt - S/S Cotton Blend Women's Dress Shirt - S/S Cotton Blend	1			\$36.00 \$41.00	\$36.00 \$41.00	\$35.99 \$46.79	\$35.99 \$46.79
198 199	Blauer Elbeco		1 1 6	\$46.13	\$276.78			******	
		Women's Dress Shirt - S/S Cotton Blend	1	\$46.13 \$44.64	\$276.78 \$1,339.20	\$41.00	\$41.00	\$46.79	\$46.79
199	Elbeco Elebco	Women's Dress Shirt - S/S Cotton Blend Dress Shirt, White, LS Womens White Dress Shirt	1 6	¥ 10.10	Q2.70.70	\$41.00 \$36.50	\$41.00 \$219.00	\$46.79 \$36.95 \$36.95	\$46.79 \$221.70
199 200	Elbeco	Women's Dress Shirt - S/S Cotton Blend Dress Shirt, White, LS	1 6 30	¥ 10.10	Q2.70.70	\$41.00 \$36.50 \$46.00	\$41.00 \$219.00 \$1,380.00	\$46.79 \$36.95	\$46.79 \$221.70 \$1,108.50
199 200 201 202	Elbeco Elebco Horace Small Horace Small	Women's Dress Shirt - SI'S Cotton Blend Dress Shirt, While, LS Womens While Dress Shirt When's LN Ewe Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LN Ewe Dimension Shirt, 65 Poly/35 Cotton, Light Blue	1 6 30 4	¥ 10.10	Q2.70.70	\$41.00 \$36.50 \$46.00 \$38.00 \$49.00	\$41.00 \$219.00 \$1,380.00 \$152.00 \$98.00	\$46.79 \$36.95 \$36.95 \$38.95 \$38.95	\$46.79 \$221.70 \$1,108.50 \$155.80 \$77.90
199 200 201	Elbeco Elebco Horace Small	Women's Dress Shirt - S/S Cotton Blend Dress Shirt, White, LS Womens White Dress Shirt Men's LS New Dimension Shirt, 45 Poly/35 Cotton, Light Blue Men's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue	1 6 30 4	¥ 10.10	Q2.70.70	\$41.00 \$36.50 \$46.00 \$38.00	\$41.00 \$219.00 \$1,380.00 \$152.00	\$46.79 \$36.95 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95	\$46.79 \$221.70 \$1,108.50 \$155.80
199 200 201 202 203 204	Elbeco Elebco Horace Small Horace Small Horace Small Horace Small	Women's Dress Shirt - S/S Cotton Blend Dress Shirt, White, LS Vomens While Dress Shirt Men's L/S New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LUS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Wen's L/S New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's S/S New Dimension Shirt, 65 Poly/35 Cotton, Light Blue	1 6 30 4	¥ 10.10	Q2.70.70	\$41.00 \$36.50 \$46.00 \$38.00 \$49.00 \$38.00 \$33.00	\$41.00 \$219.00 \$1,380.00 \$152.00 \$98.00 \$38.00 \$33.00	\$46.79 \$36.95 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95	\$46.79 \$221.70 \$1,108.50 \$155.80 \$77.90 \$38.95 \$35.50
199 200 201 202 203 204 205	Elbeco Elebco Horace Small Horace Small Horace Small Horace Small Horace Small	Women's Dress Shirt - SIS Cotton Blend Dress Shirt, White, LS Womens White Dress Shirt Men's LIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's LIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue	1 6 30 4 2 1 1	¥ 10.10	Q2.70.70	\$41.00 \$36.50 \$46.00 \$38.00 \$49.00 \$38.00 \$33.00 \$33.00	\$41.00 \$219.00 \$1,380.00 \$152.00 \$98.00 \$38.00 \$33.00 \$35.00	\$46.79 \$36.95 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50	\$46.79 \$221.70 \$1.108.50 \$155.80 \$77.90 \$38.95 \$35.50
199 200 201 202 203 204 205 206	Elbeco Elebco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small	Women's Dress Shirt - S/S Cotton Blend Dress Shirt, White, LS Womens White Dress Shirt Men's LS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's L/S New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's L/S New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's S/S New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's S/S New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's L/S New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's S/S New Dimension Shirt, 65 Poly35 Cotton, Light Blue	1 6 30 4 2 1 1 1 40	¥ 10.10	Q2.70.70	\$41,00 \$36,50 \$46,00 \$38,00 \$49,00 \$38,00 \$33,00 \$35,00 \$33,00	\$41.00 \$219.00 \$1,380.00 \$152.00 \$98.00 \$38.00 \$33.00 \$35.00 \$1,320.00	\$46.79 \$36.95 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50	\$46.79 \$221.70 \$1.108.50 \$155.80 \$77.90 \$38.95 \$35.50 \$35.50 \$1.420.00
199 200 201 202 203 204 205 206 207	Elbeco Elebco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer	Women's Dress Shirt . SIS Cotton Blend Dress Shirt, White, LS Vomens White Dress Shirt Men's LS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's LS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Vomens's LS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's LS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's SS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's SS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's LossApt Part, 75 Poly35 Men's Cotton, Light Blue Men's ClasSapt Part, 75 Poly35 Men's Cotton, Light Blue	1 6 30 4 2 1 1	¥ 10.10	Q2.70.70	\$41.00 \$36.50 \$46.00 \$38.00 \$49.00 \$38.00 \$33.00 \$33.00 \$33.00 \$72.00	\$41.00 \$219.00 \$1,380.00 \$152.00 \$98.00 \$38.00 \$33.00 \$35.00 \$1,320.00 \$72.00	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50	\$46.79 \$221.70 \$1108.50 \$155.80 \$77.90 \$38.95 \$35.50 \$35.50 \$1.420.00 \$76.50
199 200 201 202 203 204 205 206 207 208	Elbeco Elebco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer	Women's Dress Shirt - SIS Cotton Blend Dress Shirt, White, LS Womens White Dress Shirt Men's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Vomen's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Nomen's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Nomen's Lissack Part, 75 Poly/25 Wood Men's ClassAct Part, 75 Poly/25 Wood	1 6 30 4 2 1 1 1 1 40	¥ 10.10	Q2.70.70	\$41,00 \$36,50 \$46,00 \$38,00 \$49,00 \$38,00 \$33,00 \$33,00 \$33,00 \$33,00 \$72,00	\$41.00 \$219.00 \$1,380.00 \$152.00 \$98.00 \$38.00 \$33.00 \$35.00 \$1,320.00 \$72.00 \$78.00	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$76.50	\$46.79 \$221.70 \$1,108.50 \$1,55.80 \$177.90 \$38.95 \$35.50 \$35.50 \$1,420.00 \$76.50 \$99.45
199 200 201 202 203 204 205 206 207 208 209	Elbeco Elebco Elebco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Blauer	Women's Dress Shirt - S/S Cotton Blend Dress Shirt, White, LS Womens While Dress Shirt Men's L/S New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's L/S New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's L/S New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's S/S New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's S/S New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's S/S New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's ClassAct Pant, 75 Poly/25 Wool Men's ClassAct Pant, 75 Poly/25 Wool Men's ClassAct Pant, 75 Poly/25 Wool Men's ClassAct Pant, 75 Poly/25 Wool	1 6 30 4 2 1 1 1 1 40 1 1 1 5	\$44.64	\$1,339.20	\$41,00 \$36,50 \$46,00 \$38,00 \$38,00 \$38,00 \$33,00 \$35,00 \$33,00 \$72,00 \$78,00 \$72,00	\$41.00 \$219.00 \$1.380.00 \$152.00 \$98.00 \$38.00 \$38.00 \$35.00 \$1.20.00 \$72.00 \$78.00	\$46.79 \$36.95 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$35.50 \$35.50 \$35.50 \$35.50	\$46.79 \$221.70 \$1,108.50 \$155.80 \$77.90 \$38.95 \$35.50 \$1,420.00 \$76.50 \$99.45 \$382.50
199 200 201 202 203 204 205 206 207 208 209 210	Elbeco Elebco Elebco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Elbeco	Women's Dress Shirt - SIS Cotton Blend Dress Shirt, White, LS Womens White Dress Shirt Men's LS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's LS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Nomen's LS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Nen's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's ClassAct Part, 75 Poly35 Wool Women's ClassAct Part, 75 Poly325 Wool Men's ClassAct Part, 75 Poly325 Wool Men's 4 Polote Part, Black	1 6 30 4 2 1 1 1 1 40 1 1 5 5	¥ 10.10	Q2.70.70	\$41.00 \$36.50 \$46.00 \$38.00 \$49.00 \$38.00 \$33.00 \$33.00 \$33.00 \$72.00 \$72.00 \$74.00	\$41.00 \$219.00 \$13.80.00 \$15.20.00 \$152.00 \$98.00 \$33.00 \$35.50 \$13.20.00 \$17.20.00 \$78.00 \$36.00 \$36.00 \$11.00.00	\$46.79 \$36.95 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$35.50 \$35.50 \$42.00	\$46.79 \$221.70 \$1,108.50 \$155.80 \$77.90 \$38.95 \$35.50 \$14.20.00 \$76.50 \$99.45 \$38.250 \$1,60.00
199 200 201 202 203 204 205 206 207 208 209 210	Elbeco Elebco Elebco Elebco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Blauer Elbeco Fechhelmer	Women's Dress Shirt - S/S Cotton Blend Dress Shirt, White, LS Womens White Dress Shirt Men's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's S/S New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's S/S New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's S/S New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LossAct Part, 75 Poly/25 Wood Women's ClassAct Part, 75 Poly/25 Wood Women's ClassAct Part, 75 Poly/25 Wood Men's 4 Pocket Part, Black Men's Logad 55 Poly/46 Wood Part, Navy	1 6 30 4 2 1 1 1 1 40 1 1 5 25 4	\$44.64	\$1,339.20	\$41,00 \$36,50 \$46,00 \$38,00 \$49,00 \$38,00 \$33,00 \$33,00 \$33,00 \$72,00 \$72,00 \$72,00 \$72,00 \$72,00	\$41,00 \$219,00 \$13,880,00 \$152,00 \$152,00 \$38,00 \$38,00 \$33,00 \$1,220,00 \$72,00 \$78,00 \$380,00 \$35,0	\$46.79 \$36.95 \$36.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$76.50 \$99.45 \$42.00	\$46.79 \$221.70 \$1,108.50 \$155.80 \$77.90 \$38.95 \$35.50 \$1,420.00 \$76.50 \$99.45 \$382.50 \$1,480.00 \$1,480.00
199 200 201 202 203 204 205 206 207 208 209 210 211	Elbeco Elebco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Elbeco Fechhelmer Fechhelmer	Women's Dress Shirt - SIS Cotton Blend Dress Shirt, White, LS Women's Wille Dress Shirt Men's LIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's LIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Wen's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's ClassAct Part, 75 Poly25 Wood Men's ClassAct Part, 75 Poly35 Wood Men's Lepad 55 Poly45 Wood Part, Navy Men's Lepad 55 Poly45 Wood Part, Navy Men's Lepad 55 Poly45 Wood Part, Navy Men's Lepad 55 Poly45 Wood Part, Navy	1 6 30 4 2 2 1 1 1 1 40 1 1 5 5 25 4 4 2 2	\$44.64	\$1,339.20	\$41.00 \$36.50 \$46.00 \$38.00 \$49.00 \$38.00 \$33.00 \$35.00 \$35.00 \$72.00 \$78.00 \$78.00 \$78.00	\$41.00 \$13.00 \$13.00.00 \$13.00.00 \$15.20.00 \$38.00 \$33.00 \$35.00 \$13.20.00 \$72.00 \$78.00 \$35.	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$76.50 \$99.45 \$37.00 \$37.00	\$46.79 \$221.70 \$1,108.50 \$1,108.50 \$155.80 \$77.90 \$38.95 \$35.50 \$35.50 \$1,420.00 \$76.50 \$99.45 \$38.250 \$1,060.00 \$1,48.00 \$82.00
199 200 201 202 202 203 204 205 206 207 208 209 210 211 212 213	Elbeco Libeco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Elbeco Fechheimer Fechheimer	Women's Dress Shirt - SIS Cotton Blend Dress Shirt White, LS Womens White Dress Shirt Men's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LossAct Pant, 75 Poly/25 Wood Women's ClassAct Pant, 75 Poly/25 Wood Women's ClassAct Pant, 75 Poly/25 Wood Men's Legend 55 Poly/45 Wood Pant, Navy Men's Legend 55 Poly/45 Wood Pant, Navy Men's Legend 55 Poly/45 Wood Pant, Navy Men's Legend 55 Poly/45 Wood Pant, Navy	1 6 30 4 2 1 1 1 1 40 1 1 5 25 4	\$44.64	\$1,339.20	\$41,00 \$36,50 \$46,00 \$38,00 \$49,00 \$38,00 \$33,00 \$33,00 \$37,00 \$77,00 \$78,00 \$78,00 \$78,00 \$78,00	\$41,00 \$219,00 \$13,880,00 \$115,200 \$38,00 \$33,00 \$33,50 \$13,20,00 \$72,00 \$78,00 \$34,00 \$35,00 \$11,100,00 \$31,1	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$35.50 \$35.50 \$35.50 \$35.50 \$35.50 \$35.50 \$35.50 \$35.70 \$35.70 \$35.70 \$35.70 \$35.70 \$37.00	\$46.79 \$221.70 \$1.108.50 \$1.108.50 \$155.80 \$77.79 \$38.95 \$35.50 \$1.420.00 \$76.50 \$99.45 \$382.50 \$1.050.00 \$1.480.00
199 200 201 202 202 203 204 205 206 207 208 209 210 211 212 212 213 214	Elbeco Elebco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Blauer Elbeco Fechheimer Fechheimer Fechheimer	Women's Dress Shirt - S/S Cotton Blend Dress Shirt, White, LS Womens White Dress Shirt Men's LJS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LJS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LJS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LJS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's SiS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's SiS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SiS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's ClassAct Part, 75 Poly/25 Wool Men's A-Pockel Part, 75 Poly/25 Wool Women's ClassAct Part, 75 Poly/25 Wool Men's A-Pockel Part, Black Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy	1 6 30 4 2 1 1 1 1 40 1 1 5 25 4 4 2 2	\$44.64	\$1,339.20	\$41.00 \$36.50 \$46.00 \$38.00 \$49.00 \$38.00 \$38.00 \$333.00 \$333.00 \$572.00 \$772.00 \$78.00 \$78.00 \$78.00 \$78.00	\$41.00 \$219.00 \$13.880.00 \$15.20 \$98.00 \$38.00 \$33.00 \$13.20.00 \$72.00 \$72.00 \$78.00 \$360.00 \$1,100.00 \$360.00 \$11.00.00 \$31.00	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$76.50 \$76.50 \$42.00 \$41.00 \$41.00 \$46.00	\$46.79 \$221.70 \$1,108.50 \$158.80 \$77.90 \$38.95 \$35.50 \$1,420.00 \$76.50 \$1,420.00 \$76.50 \$1,420.00 \$1,420.00 \$1,420.00 \$1,150.00 \$1,150.00 \$1,150.00 \$1,150.00 \$1,150.00
199 200 201 202 203 204 205 206 207 208 209 211 212 213 214 215	Elbeco Leleco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Ideace Blauer Blauer Blauer Elbeco Fecthelmer Fecthelmer Fecthelmer Fecthelmer	Women's Dress Shirt - SIS Cotton Blend Dress Shirt White, LS Womens White Dress Shirt Men's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Nomen's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Nen's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Nen's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's ClassAct Part, 75 Poly/25 Wool Women's ClassAct Part, 75 Poly/25 Wool Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy	1 1 6 30 4 4 2 2 1 1 1 1 40 1 1 5 5 25 4 4 2 2 25 1 1 10	\$44.64	\$1,339.20	\$41.00 \$345.50 \$46.00 \$38.00 \$49.00 \$38.00 \$38.00 \$33.00 \$33.00 \$37.00 \$77.00 \$78.00 \$78.00 \$78.00 \$78.00 \$78.00 \$78.00 \$78.00	\$41.00 \$219.00 \$13.80.00 \$13.80.00 \$152.00 \$98.00 \$33.00 \$35.50 \$13.20.00 \$72.00 \$72.00 \$78.00 \$31.0	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$35.50 \$35.50 \$37.50 \$3	\$46.79 \$221.70 \$1,108.50 \$1,108.50 \$155.80 \$77.90 \$38.95 \$55.50 \$35.50 \$1,420.00 \$76.50 \$99.45 \$382.50 \$1,60.00 \$1,48.00 \$82.00 \$1,150.00 \$51.00 \$51.00
199 200 201 202 203 204 205 206 207 208 209 210 211 212 213 214 215 216	Elbeco Libeco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Elbeco Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer	Women's Dress Shirt - SIS Cotton Blend Dress Shirt, White, LS Womens White Dress Shirt Men's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Wood Men's ClassAct Part, 75 Poly/25 Wood Women's ClassAct Part, 75 Poly/25 Wood Women's ClassAct Part, 175 Poly/25 Wood Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Momen's Legend 55 Poly/46 Wool Part, Navy Momen's Legend 55 Poly/46 Wool Part, Navy Momen's Legend 55 Poly/46 Wool Part, Navy Momen's Legend 55 Poly/46 Wool Part, Navy Momen's Legend 55 Poly/46 Wool Part, Navy Momen's Legend 55 Poly/46 Wool Part, Navy	1 6 30 4 2 1 1 1 1 40 1 1 5 25 4 2 2 2 5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$44.64	\$1,339.20	\$41,00 \$36,50 \$46,00 \$38,00 \$49,00 \$38,00 \$33,00 \$33,00 \$33,00 \$33,00 \$37,00 \$77,00 \$77,00 \$78,00 \$78,00 \$78,00 \$78,00 \$78,00 \$78,00 \$78,00 \$78,00 \$78,00 \$78,00 \$78,00 \$78,00 \$78,00 \$78,00 \$78,00 \$78,00 \$78,00 \$78,00	\$41,00 \$219,00 \$13,80,00 \$135,00 \$35,00 \$38,00 \$33,00 \$33,00 \$72,00 \$72,00 \$78,00 \$34,00 \$35,00 \$11,300,00 \$11,000 \$312,00 \$11,000 \$312,00 \$11,000 \$312,00 \$31	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$3	\$46.79 \$221.70 \$1,108.50 \$155.80 \$77.90 \$38.95 \$35.50 \$1,420.00 \$76.50 \$99.45 \$382.50 \$1,150.00
199 200 201 202 203 204 205 206 207 208 209 210 211 212 213 214 215 216 217	Elbeco Elebco Elebco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Blauer Elbeco Fectheimer Fectheimer Fectheimer Fectheimer Fectheimer Fectheimer Fectheimer Fectheimer Fectheimer Fectheimer Fectheimer Fectheimer Fectheimer	Women's Dress Shirt - SIS Cotton Blend Thess Shirt, White, LS Women's Wille Dress Shirt Men's LIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's LIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Wen's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's SIS New Dimension Shirt, 66 Poly35 Cotton, Light Blue Men's LogsAdd Part, 75 Poly32 Wood Men's ClassAdd Part, 75 Poly32 Wood Men's Legend 55 Poly45 Wood Part, Navy Men's Legend 55 Poly45 Wood Part, Navy Men's Legend 55 Poly45 Wood Part, Navy Men's Legend 55 Poly45 Wood Part, Navy Men's Legend 55 Poly45 Wood Part, Navy Men's Legend 55 Poly45 Wood Part, Navy Men's Legend 55 Poly45 Wood Part, Navy Men's Legend 55 Poly45 Wood Part, Navy Men's Legend 55 Poly45 Wood Part, Navy Women's Legend 55 Poly46 Wood Part, Navy Women's Legend 55 Poly46 Wood Part, Navy Women's Legend 55 Poly46 Wood Part, Navy Women's Legend 55 Poly46 Wood Part, Navy Women's Legend 55 Poly46 Wood Part, Navy Women's Legend 55 Poly46 Wood Part, Navy Women's Legend 55 Poly46 Wood Part, Navy Women's Legend 55 Poly46 Wood Part, Navy Women's Legend 55 Poly46 Wood Part, Navy	1	\$44.64	\$1,339.20	\$41.00 \$36.50 \$46.00 \$38.00 \$49.00 \$38.00 \$38.00 \$33.00 \$33.00 \$35.00 \$35.00 \$37.00 \$77.00 \$78.00 \$78.00 \$78.00 \$78.00 \$78.00 \$78.00 \$78.00 \$78.00 \$78.00 \$78.00 \$78.00	\$41.00 \$13.00.00 \$13.00.00 \$13.00.00 \$15.20.00 \$38.00 \$33.00 \$35.00 \$13.20.0	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$36.50 \$37.50 \$37.50 \$37.50 \$37.00 \$41.00 \$41.00 \$5	\$46.79 \$221.70 \$1,108.50 \$1,108.50 \$155.80 \$77.90 \$38.95 \$35.50 \$35.50 \$35.50 \$1,420.00 \$76.50 \$99.45 \$38.250 \$1,106.00 \$1,148.00 \$51.50 \$51.00 \$51.60 \$51.60 \$51.60 \$51.60 \$51.60 \$51.60 \$51.60 \$51.60 \$51.60 \$51.60 \$51.60
199 200 201 202 203 204 205 206 207 208 209 210 211 212 213 214 215 216 216 217 218	Elbeco Libeco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Elbeco Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer	Women's Dress Shirt - SIS Cotton Blend Dress Shirt White, LS Womens White Dress Shirt Men's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Wen's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Wood Women's ClassAct Part, 75 Poly/25 Wood Women's ClassAct Part, 75 Poly/25 Wood Women's ClassAct Part, 75 Poly/25 Wood Women's Logend 55 Poly/45 Wood Part, Navy Men's Logend 55 Poly/45 Wood Part, Navy Women's Logend 55 Poly/46 Wood Part, Navy Women's Logend 55 Poly/46 Wood Part, Navy Women's Logend 55 Poly/46 Wood Part, Navy Women's Logend 55 Poly/46 Wood Part, Navy Women's Logend 55 Poly/46 Wood Part, Navy Women's Logend 55 Poly/46 Wood Part, Navy Women's Logend 55 Poly/46 Wood Part, Navy Women's Logend 55 Poly/46 Wood Part, Navy Women's Logend 55 Poly/46 Wood Part, Navy Women's Logend 55 Poly/46 Wood Part, Navy Women's Logend 55 Poly/46 Wood Part, Navy	1 6 30 4 2 2 1 1 1 1 40 1 1 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	\$44.64	\$1,339.20	\$41.00 \$36.50 \$46.00 \$38.00 \$49.00 \$38.00	\$41,00 \$219,00 \$13,88,00 \$15,200 \$186,00 \$38,00 \$33,00 \$13,20,00 \$72,00 \$78,00 \$34,00 \$11,100,00 \$311,00 \$11,00 \$11,00	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$35.50 \$35.50 \$35.50 \$35.50 \$37.00 \$41.00 \$41.00 \$41.00 \$41.00	\$46.79 \$221.70 \$1.108.50 \$1.108.50 \$1.158.80 \$77.79 \$38.95 \$35.50 \$1.420.00 \$76.50 \$99.45 \$382.50 \$1.420.00 \$1.400.0
199 200 201 202 203 203 204 205 206 207 208 209 210 211 212 213 214 215 216 217 218 219	Elbeco Elebco Elebco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Blauer Elbeco Fectheimer Fectheimer Fectheimer Fectheimer Fectheimer Fectheimer Fectheimer Fectheimer Fectheimer Fectheimer Fectheimer Fectheimer Fectheimer	Women's Dress Shirt - SI'S Cotton Blend Thess Shirt, White, LS Vomens' White Dress Shirt Men's LS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's LS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's LS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's LS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Nen's SS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's SS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's LossAct Part, 75 Poly25 Wood Women's ClassAct Part, 75 Poly25 Wood Men's ClassAct Part, 75 Poly25 Wood Men's Logend SP Poly45 Wood Part, Navy Men's Logend 55 Poly45 Wood Part, Navy Men's Logend 55 Poly45 Wood Part, Navy Men's Logend 55 Poly45 Wood Part, Navy Men's Logend 55 Poly45 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy	1 6 30 4 2 1 1 1 1 40 1 1 5 25 4 4 2 2 25 1 1 10 4 4 4 5 5 5 6 7 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$44.64	\$1,339.20	\$41.00 \$36.50 \$46.00 \$38.00 \$49.00 \$38.00 \$38.00 \$333.00 \$333.00 \$333.00 \$772.00 \$78.00	\$41.00 \$11.00 \$13.00.00 \$13.00.00 \$15.20.00 \$98.00 \$38.00 \$13.20.0	\$46.79 \$36.95 \$36.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$76.50 \$97.45 \$76.50 \$97.45 \$11.00 \$41.00 \$41.00 \$51.00 \$51.00	\$46.79 \$221.70 \$1.108.50 \$1.108.50 \$155.80 \$77.90 \$38.95 \$35.50 \$35.50 \$1.420.00 \$76.50 \$99.45 \$382.50 \$1.105.00 \$148.00 \$52.00 \$1.150.00 \$54.00 \$54.00 \$54.00 \$54.00 \$54.00 \$54.00 \$54.00 \$54.00 \$54.00 \$54.00 \$54.00 \$54.00
199 200 201 201 202 203 204 205 206 207 208 209 210 211 212 213 214 215 216 217 218	Elbeco Liebco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Blauer Elbeco Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer	Women's Dress Shirt - SIS Cotton Blend Dress Shirt White, LS Womens White Dress Shirt Minter Dress Shirt Men's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Nen's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's ClassAct Part, 75 Poly/25 Wool Women's ClassAct Part, 75 Poly/25 Wool Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy	1 6 30 4 4 2 2 1 1 1 1 40 1 1 5 5 25 4 4 2 2 25 1 1 10 4 4 50 50 50 50 50 50 50 50 50 50 50 50 50	\$44.64	\$1,339.20	\$41.00 \$34.50 \$46.00 \$38.00 \$49.00 \$38.00 \$38.00 \$33.00 \$33.00 \$33.00 \$72.00 \$78.00	\$41.00 \$219.00 \$13.80.00 \$13.80.00 \$152.00 \$98.00 \$38.00 \$35.00 \$13.20.00 \$37.0	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.50 \$35.50 \$35.50 \$35.50 \$37.50 \$37.50 \$46.00 \$37.00 \$46.00 \$37.00 \$46.00 \$37.00 \$46.00 \$37.00 \$46.00 \$37.00	\$46.79 \$221.70 \$1,108.50 \$1,108.50 \$155.80 \$77.90 \$338.95 \$35.50 \$35.50 \$1,420.00 \$16.50 \$99.45 \$382.50 \$1,60.00 \$1,48.00 \$82.00 \$1,150.00
199 200 201 202 203 203 204 205 206 207 208 209 210 211 212 213 214 215 216 217 218 219	Elbeco Libeco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Blauer Blauer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer	Women's Dress Shirt - SI'S Cotton Blend Thess Shirt, White, LS Vomens' White Dress Shirt Men's LS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's LS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's LS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's LS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Nen's SS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Women's SS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's LossAct Part, 75 Poly25 Wood Women's ClassAct Part, 75 Poly25 Wood Men's ClassAct Part, 75 Poly25 Wood Men's Logend SP Poly45 Wood Part, Navy Men's Logend 55 Poly45 Wood Part, Navy Men's Logend 55 Poly45 Wood Part, Navy Men's Logend 55 Poly45 Wood Part, Navy Men's Logend 55 Poly45 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood Part, Navy	1 6 30 4 2 1 1 1 1 40 1 1 5 25 4 4 2 2 25 1 1 10 4 4 4 5 5 5 6 7 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$44.64	\$1,339.20	\$41.00 \$36.50 \$46.00 \$38.00 \$49.00 \$38.00 \$38.00 \$333.00 \$333.00 \$333.00 \$772.00 \$78.00	\$41.00 \$11.00 \$13.00.00 \$13.00.00 \$15.20.00 \$98.00 \$38.00 \$13.20.0	\$46.79 \$36.95 \$36.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$76.50 \$97.45 \$76.50 \$97.45 \$11.00 \$41.00 \$41.00 \$51.00 \$51.00	\$46.79 \$221.70 \$1.108.50 \$1.108.50 \$155.80 \$77.90 \$38.95 \$35.50 \$35.50 \$1.420.00 \$76.50 \$99.45 \$382.50 \$1.105.00 \$148.00 \$52.00 \$1.150.00 \$54.00 \$54.00 \$54.00 \$54.00 \$54.00 \$54.00 \$54.00 \$54.00 \$54.00 \$54.00 \$54.00 \$54.00
199 200 200 201 202 203 204 205 206 207 208 209 211 212 213 214 215 217 218 219 220	Elbeco Liebco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Blauer Elbeco Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer	Women's Dress Shirt - SIS Cotton Blend Dress Shirt White, LS Womens White Dress Shirt Minter Dress Shirt Men's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Nen's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's ClassAct Part, 75 Poly/25 Wool Women's ClassAct Part, 75 Poly/25 Wool Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Men's Legend 55 Poly/45 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy Women's Legend 55 Poly/46 Wool Part, Navy	1	\$44.64	\$1,339.20	\$41.00 \$34.50 \$46.00 \$38.00 \$49.00 \$38.00 \$38.00 \$33.00 \$33.00 \$33.00 \$72.00 \$78.00	\$41.00 \$1380.00 \$1380.00 \$152.00 \$98.00 \$38.00 \$38.00 \$35.50 \$13.20.00 \$13.20.00 \$13.20.00 \$13.20.00 \$13.20.00 \$13.20.00 \$13.20.00 \$13.20.00 \$31.2	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$35.50 \$37.50 \$37.50 \$37.00 \$41.00 \$44.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00	\$46.79 \$221.70 \$1,108.50 \$1,108.50 \$155.80 \$77.90 \$338.95 \$35.50 \$35.50 \$1,420.00 \$16.50 \$99.45 \$382.50 \$1,60.00 \$1,48.00 \$82.00 \$1,150.00
199 200 201 202 201 202 203 204 205 206 207 208 209 210 211 212 213 214 215 216 217 218 219 220 220 221	Elbeco Libeco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Elbeco Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer Fechheimer	Women's Dress Shirt - SIS Cotton Blend Dress Shirt, White, LS Womens White Dress Shirt Men's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LassAct Pant, 75 Poly/25 Wood Women's ClassAct Pant, 75 Poly/25 Wood Women's ClassAct Pant, 75 Poly/25 Wood Women's Legend 55 Poly/45 Wool Pant, Navy Men's Legend 55 Poly/45 Wool Pant, Navy Men's Legend 55 Poly/45 Wool Pant, Navy Women's Legend 55 Poly/45 Wool Pant, Navy	1	\$44.64	\$1,339.20	\$41,00 \$36,50 \$46,00 \$38,00 \$49,00 \$38,00 \$33,00 \$33,00 \$33,00 \$37,00 \$77,00 \$78,00	\$41,00 \$219,00 \$13,80,00 \$15,20,00 \$38,00 \$38,00 \$33,00 \$13,20,00 \$72,00 \$78,00 \$31,00,00 \$11,100,00 \$11,100,00 \$11,950,00 \$18,780,00 \$11,950,00 \$11,450,00 \$11,450,00 \$11,590,00 \$11,590,00 \$11,590,00 \$11,590,00 \$11,450,00 \$11,590,00 \$11,590,00	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$35.50 \$76.50 \$76.50 \$42.00 \$37.00 \$41.00 \$4	\$46.79 \$221.70 \$1,108.50 \$1,108.50 \$1,108.50 \$1,55.80 \$77.79 \$38.95 \$35.50 \$1,420.00 \$76.50 \$99.45 \$382.50 \$1,108.00 \$1,150.00 \$1,150.00 \$1,160.00 \$1,170.00
199 200 200 201 202 203 204 205 206 207 208 209 211 212 213 214 215 216 217 218 219 220 221	Elbeco Libeco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Elbeco Fechheimer	Women's Dress Shirt - SIS Cotton Blend Dress Shirt White, LS Womens White Dress Shirt Men's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's Logend 55 Poly/45 Wool Pant, New Men's Legend 55 Poly/45 Wool Pant, Navy Men's Legend 55 Poly/45 Wool Pant, Navy Women's Legend 55 Poly/45 Wool Pant,	1	\$44.64	\$1,339.20	\$41.00 \$36.50 \$46.00 \$38.00 \$49.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$72.00 \$78.00	\$41.00 \$1380.00 \$1380.00 \$152.00 \$98.00 \$38.00 \$38.00 \$35.50 \$13.20.00 \$13.20.00 \$13.20.00 \$13.20.00 \$13.20.00 \$13.20.00 \$13.20.00 \$13.20.00 \$31.2	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$35.50 \$35.50 \$35.50 \$37.00 \$41.00 \$46.00 \$51.00 \$40.00 \$51.00 \$40.00 \$51.00	\$46.79 \$221.70 \$1,108.50 \$1,108.50 \$155.80 \$77.90 \$38.95 \$35.50 \$35.50 \$35.50 \$35.50 \$34.20.00 \$14.20.00 \$17.50 \$99.45 \$382.50 \$1,050.00 \$1,48.00 \$1,150.00
199 200 200 201 202 201 202 203 204 205 206 207 208 209 210 211 212 213 214 215 216 219 222 222 223 223 221 222 223 223 221 222 223 221 222 223 221 222 223 220 221 222 223 200 200 200 200 200 200 200 200	Elbeco Elebco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Blauer Blauer Elbeco Fechheimer	Women's Dress Shirt - SIS Cotton Blend Thess Shirt, White, LS Womens White Dress Shirt Men's LIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's LIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Womens VIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's ClassAct Part, 75 Poly25 Wood Men's ClassAct Part, 75 Poly25 Wood Men's ClassAct Part, 75 Poly25 Wood Men's Logend 55 Poly46 Wool Part, Navy Men's Logend 55 Poly46 Wool Part, Navy Men's Logend 55 Poly46 Wool Part, Navy Men's Logend 55 Poly46 Wool Part, Navy Men's Logend 55 Poly46 Wool Part, Navy Men's Logend 55 Poly46 Wool Part, Navy Women's Logend 55 Poly46 Wool	1	\$44.64	\$1,339.20	\$41.00 \$36.50 \$46.00 \$38.00 \$49.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$37.00 \$77.00 \$78.00	\$41,00 \$219,00 \$1380.00 \$1380.00 \$152,00 \$152,00 \$152,00 \$380.00 \$335,00 \$335,00 \$335,00 \$335,00 \$346,000 \$346,000 \$311,000,00 \$312,00 \$312,00 \$312,00 \$312,00 \$312,00 \$312,00 \$312,00 \$313,00,00 \$314,450,00	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$35.50 \$37.50 \$37.50 \$37.00 \$41.00 \$44.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00 \$51.00	\$46.79 \$221.70 \$1,108.50 \$1,108.50 \$1,158.80 \$77.90 \$38.95 \$35.50 \$31.55.50 \$1,420.00 \$176.50 \$99.45 \$382.50 \$1,160.00 \$1,180.
199 200 200 201 202 203 204 205 206 207 208 209 210 211 212 213 214 215 216 217 228 229 220 222 223 224 220 200 200 200 200 200 200 200 200	Elbeco Elebco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Blauer Blauer Fechheimer	Women's Dress Shirt - SIS Cotton Blend Thess Shirt, White, LS Vionens' White Dress Shirt Men's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's ClassAct Part, 75 Poly/25 Wood Men's ClassAct Part, 75 Poly/25 Wood Men's ClassAct Part, 75 Poly/25 Wood Men's Logend 55 Poly/45 Wood Part, Navy Men's Logend 55 Poly/45 Wood Part, Navy Men's Logend 55 Poly/45 Wood Part, Navy Men's Logend 55 Poly/45 Wood Part, Navy Vionen's Logend 55 Poly/45 Wood Part, Navy Vionen's Logend 55 Poly/45 Wood Part, Navy Vionen's Logend 55 Poly/45 Wood Part, Navy Vionen's Logend 55 Poly/45 Wood Part, Navy Vionen's Logend 55 Poly/45 Wood Part, Navy Vionen's Logend 55 Poly/45 Wood Part, Navy Vionen's Single Breasled Dress Coat, 55 Poly/45 Wool, Navy Men's Single Breasled Dress Coat, 55 Poly/45 Wool, Navy Men's Single Breasled Dress Coat, 55 Poly/45 Wool, Navy Men's Single Breasled Dress Coat, 55 Poly/45 Wool, Navy Men's Single Breasled Dress Coat, 55 Poly/45 Wool, Navy Men's Single Breasled Dress Coat, 55 Poly/45 Wool, Navy Men's Single Breasled Dress Coat, 55 Poly/45 Wool, Navy Men's Single Breasled Dress Coat, 55 Poly/45 Wool, Navy Men's Single Breasled Dress Coat, 55 Poly/45 Wool, Navy Men's Single Breasled Dress Coat, 55 Poly/45 Wool, Navy Men's Single Breasled Dress Coat, 55 Poly/45 Wool, Navy Men's Single Breasled Dress Coat, 55 Poly/45 Wool, Navy Men's Single Breasled Dress Coat, 55 Poly/45 Wool, Navy Men's Single Breasled Dress Coat, 55 Poly/45 Wool, Navy Men's Single Breasled Dress Coat, 55 Poly/45 Wool, Navy Men's Single Breasled Dress Coat, 55 Poly/45 Wool, Navy	1	\$44.64	\$1,339.20	\$41.00 \$34.50 \$46.00 \$38.00 \$49.00 \$38.00 \$38.00 \$33.00 \$33.00 \$33.00 \$72.00 \$78.00	\$41,00 \$219,00 \$13,80,00 \$13,80,00 \$152,00 \$98,00 \$33,00 \$33,50 \$13,20,00 \$37,00 \$37,00 \$31,20 \$31,20 \$31,20 \$31,20 \$31,20 \$31,20 \$31,20 \$31,20 \$31,20 \$31,20 \$31,20 \$	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.50 \$35.50 \$35.50 \$35.50 \$37.50 \$37.50 \$45.00 \$37.00 \$46.00 \$57.00	\$46.79 \$221.70 \$1,108.50 \$1,108.50 \$155.80 \$77.90 \$338.95 \$35.50 \$35.50 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,480.00 \$2,200.00 \$1,480.00 \$2,200.00 \$1,7250.00
199 200 201 202 202 203 204 205 206 207 208 209 210 211 212 213 214 215 217 219 220 221 222 222 223 224	Elbeco Libeco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Elbeco Fechheimer	Women's Dress Shirt - SIS Cotton Blend Dress Shirt White, LS Womens White Dress Shirt Men's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's SS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Wood Men's LogsAct Pant, 75 Poly/25 Wood Women's ClassAct Pant, 75 Poly/25 Wood Women's ClassAct Pant, 75 Poly/25 Wood Women's ClassAct Pant, 75 Poly/25 Wood Women's Legend 55 Poly/45 Wood Pant, Navy Men's Legend 55 Poly/45 Wood Pant, Navy Men's Legend 55 Poly/45 Wood Pant, Navy Women's L	1	\$44.64	\$1,339.20	\$41.00 \$36.50 \$46.00 \$38.00 \$49.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$37.00 \$77.00 \$78.00	\$41,00 \$219,00 \$1380.00 \$1152,00 \$15380.00 \$15380.00 \$338.00 \$338.00 \$338.00 \$335.00 \$1320.00 \$72.00 \$78.00 \$386.00 \$311,000.00 \$311,000 \$312.00 \$318.00	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.50 \$35.50 \$35.50 \$35.50 \$37.50 \$37.50 \$42.00 \$37.00 \$41.00 \$46.00 \$37.00 \$46.00 \$37.00	\$46.79 \$221.70 \$1,108.50 \$1,108.50 \$155.80 \$77.90 \$38.95 \$35.50 \$33.50 \$35.50 \$1,420.00 \$76.50 \$99.45 \$382.50 \$1,420.00 \$11,650.00 \$148.00 \$2,000.00 \$1,150.00 \$148.00 \$2,000.00 \$1,150.00
199 200 201 202 201 202 203 204 205 206 207 208 209 210 211 212 213 214 215 216 217 218 219 220 221 222 223 224 225 226	Elbeco Elbeco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Blauer Blauer Elbeco Fechheimer	Women's Dress Shirt - SIS Cotton Blend Thess Shirt, White, LS Women's Wile Dress Shirt Men's LIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's LIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Womens VIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's ClassAct Part, 75 Poly25 Wood Men's ClassAct Part, 75 Poly25 Wood Men's ClassAct Part, 75 Poly25 Wood Men's Logend 55 Poly46 Wood Part, Navy Men's Logend 55 Poly46 Wood Part, Navy Men's Logend 55 Poly46 Wood Part, Navy Men's Logend 55 Poly46 Wood Part, Navy Men's Logend 55 Poly46 Wood Part, Navy Men's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood	1	\$44.64	\$1,339.20	\$41.00 \$36.50 \$46.00 \$38.00 \$49.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$72.00 \$78.00	\$41.00 \$1380.00 \$1380.00 \$1380.00 \$152.00 \$100 \$100 \$100 \$100 \$100 \$100 \$100 \$	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$35.50 \$35.50 \$37.50 \$37.00 \$41.00 \$44.00 \$51.00	\$46.79 \$221.70 \$1,108.50 \$1,108.50 \$155.80 \$77.90 \$38.95 \$35.50 \$35.50 \$1,420.00 \$76.50 \$99.45 \$38.250 \$1,420.00 \$148.00 \$2,000 \$1,180.0
199 200 201 202 203 203 204 205 206 207 208 209 211 212 213 214 215 216 217 218 219 222 221 222 223 224 227 228	Elbeco Liebco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Blauer Elbeco Fechhelmer	Women's Dress Shirt - SIS Cotton Blend Dress Shirt White, LS Womens White Dress Shirt Men's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Wool Men's ClassAct Pant, 75 Poly/25 Wool Women's ClassAct Pant, 75 Poly/25 Wool Women's ClassAct Pant, 75 Poly/25 Wool Women's Legend 55 Poly/45 Wool Pant, Navy Men's Legend 55 Poly/45 Wool Pant, Navy Women's Legend 55 Po	1	\$44.64	\$1,339.20	\$41.00 \$34.50 \$46.00 \$38.00 \$46.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$72.00 \$78.00	\$41,00 \$219,00 \$1380,00 \$1380,00 \$152,00 \$152,00 \$152,00 \$38,00 \$33,00 \$33,50 \$33,50 \$33,00,00 \$34,750,00 \$31,750,00	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.50 \$35.50 \$35.50 \$35.50 \$37.50 \$37.50 \$45.00 \$37.00 \$46.00 \$57.00	\$46.79 \$221.70 \$1,108.50 \$1,108.50 \$1,108.50 \$1,158.80 \$77.79 \$38.95 \$35.50 \$38.95 \$35.50 \$1,420.00 \$71.650 \$99.45 \$382.50 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,150.00 \$1,150.00 \$1,150.00 \$1,150.00 \$1,17,250.00
199 200 201 202 201 202 203 204 205 206 207 208 209 210 211 212 213 214 215 216 217 218 219 220 221 222 223 224 225 226	Elbeco Elbeco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Blauer Blauer Elbeco Fechheimer	Women's Dress Shirt - SIS Cotton Blend Thess Shirt, White, LS Women's Wile Dress Shirt Men's LIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's LIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Womens VIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's SIS New Dimension Shirt, 65 Poly35 Cotton, Light Blue Men's ClassAct Part, 75 Poly25 Wood Men's ClassAct Part, 75 Poly25 Wood Men's ClassAct Part, 75 Poly25 Wood Men's Logend 55 Poly46 Wood Part, Navy Men's Logend 55 Poly46 Wood Part, Navy Men's Logend 55 Poly46 Wood Part, Navy Men's Logend 55 Poly46 Wood Part, Navy Men's Logend 55 Poly46 Wood Part, Navy Men's Logend 55 Poly46 Wood Part, Navy Women's Logend 55 Poly46 Wood	1	\$44.64	\$1,339.20	\$41.00 \$36.50 \$46.00 \$38.00 \$49.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$72.00 \$78.00	\$41.00 \$1380.00 \$1380.00 \$1380.00 \$152.00 \$100 \$100 \$100 \$100 \$100 \$100 \$100 \$	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$35.50 \$35.50 \$37.50 \$37.00 \$41.00 \$44.00 \$51.00	\$46.79 \$221.70 \$1,108.50 \$1,108.50 \$155.80 \$177.90 \$38.95 \$35.50 \$34.50 \$35.50 \$1,420.00 \$76.50 \$99.45 \$38.250 \$1,420.00 \$148.00 \$2,000 \$148.00 \$82.00 \$1,150.00 \$1,15
199 200 201 202 203 204 205 206 207 208 209 201 211 212 213 214 215 216 217 218 219 220 221 222 223 224 227 228 229	Elbeco Leleco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Blauer Elbeco Fechheimer	Women's Dress Shirt - SIS Cotton Blend Dress Shirt White, LS Womens White Dress Shirt Men's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Wool Men's ClassAct Pant, 75 Poly/25 Wool Women's ClassAct Pant, 75 Poly/25 Wool Women's Logend 55 Poly/45 Wool Pant, Navy Men's Logend 55 Poly/45 Wool Pant, Navy Women's Logend 55 Poly/45 Wool Pant,	1 1 6 30 4 4 2 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$44.64	\$1,339.20	\$41.00 \$34.50 \$46.00 \$38.00 \$48.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$72.00 \$78.00	\$41,00 \$279,00 \$13,880,00 \$152,00 \$98,00 \$38,00 \$33,00 \$35,50 \$13,20,00 \$72,00 \$72,00 \$78,00 \$31,20,00 \$31	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$35.50 \$35.50 \$37.50 \$37.00 \$41.00 \$44.00 \$51.00	\$46.79 \$221.70 \$1,108.50 \$1,108.50 \$155.80 \$77.90 \$33.95 \$35.50 \$35.50 \$1,420.00 \$1,720.00
199 200 201 202 202 203 204 205 206 207 208 209 211 212 213 214 217 215 216 217 219 222 221 221 222 223 224 225 226 227	Elbeco Liebco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Blauer Elbeco Fechhelmer	Women's Dress Shirt - SIS Cotton Blend Dress Shirt White, LS Womens White Dress Shirt Minter LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's Logend SI Poly/35 Wood Part, New John's Logend SP Poly/35 Wood New Side New Side Shirt S	1	\$44.64	\$1,339.20	\$41.00 \$34.50 \$46.00 \$38.00 \$46.00 \$38.00 \$38.00 \$38.00 \$33.00 \$33.00 \$33.00 \$72.00 \$78.00	\$41,00 \$219,00 \$1380,00 \$1380,00 \$152,00 \$152,00 \$152,00 \$38,00 \$33,00 \$33,50 \$33,50 \$33,00,00 \$34,750,00 \$31,750,00	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$35.50 \$35.50 \$37.50 \$37.00 \$41.00 \$44.00 \$51.00	\$46.79 \$221.70 \$1,108.50 \$1,108.50 \$155.80 \$77.90 \$38.95 \$35.50 \$38.95 \$35.50 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,420.00 \$1,150.00 \$1,480.00 \$2,050.00 \$1,150.00 \$1,120.0
199 200 201 202 202 203 204 205 206 207 208 209 211 212 213 214 217 218 219 221 221 221 221 221 222 223 224 227 228 229	Elbeco Elebco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Blauer Elbeco Fechheimer Midway Keystone	Women's Dress Shirt - SIS Cotton Blend Dress Shirt White, LS Womens White Dress Shirt Minter LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's Logend SI Poly/35 Wood Part, New John's Logend SP Poly/35 Wood New Side New Side Shirt S	1	\$44.64	\$1,339.20	\$41.00 \$34.50 \$46.00 \$38.00 \$46.00 \$38.00 \$38.00 \$33.00 \$33.00 \$33.00 \$33.00 \$72.00 \$78.00	\$41,00 \$279,00 \$13,880,00 \$15,280,00 \$38,00 \$38,00 \$33,00 \$35,50 \$13,20,00 \$72,00 \$78,00 \$31,20,00 \$31,00 \$31,00 \$3	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$36.50 \$37.50 \$37.50 \$37.00 \$41.00 \$41.00 \$41.00 \$5	\$46.79 \$221.70 \$1,108.50 \$1,108.50 \$155.80 \$77.90 \$33.95 \$35.50 \$35.50 \$1,420.00 \$1,720.00
199 200 201 201 202 203 204 205 206 207 208 209 211 212 213 214 217 218 219 220 221 222 223 224 227 228 229 230 231	Elbeco Elebco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Blauer Elbeco Fechheimer	Women's Dress Shirt - SIS Cotton Blend Dress Shirt White, LS Womens White Dress Shirt Minter LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's Logand SP poly/35 Wood Men's ClassAct Part, 75 Poly/25 Wood Women's Logand SP Poly/35 Wood Part, Navy Men's Logend 55 Poly/45 Wool Part, Navy Men's Logend 55 Poly/45 Wool Part, Navy Women's Logen	1 1 6 30 4 4 2 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$44.64	\$1,339.20	\$41.00 \$34.50 \$46.00 \$38.00 \$48.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$38.00 \$72.00 \$78.00	\$41,00 \$279,00 \$13,880,00 \$152,00 \$98,00 \$38,00 \$33,00 \$35,50 \$13,20,00 \$72,00 \$72,00 \$78,00 \$31,20,00 \$31	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$36.50 \$37.50 \$37.50 \$37.00 \$41.00 \$41.00 \$41.00 \$5	\$46.79 \$221.70 \$1,108.50 \$1,108.50 \$155.80 \$77.90 \$33.95 \$35.50 \$35.50 \$1,420.00 \$1,720.00
199 200 201 202 201 202 203 204 205 206 207 208 209 211 212 213 214 215 216 217 218 219 220 221 222 223 224 225 226 227 228 229 230	Elbeco Elebco Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Horace Small Blauer Blauer Blauer Elbeco Fechheimer Midway Keystone	Women's Dress Shirt - SIS Cotton Blend Dress Shirt White, LS Womens White Dress Shirt Minter LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Men's LS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's LIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's SIS New Dimension Shirt, 65 Poly/35 Cotton, Light Blue Women's Logend SI Poly/35 Wood Part, New John's Logend SP Poly/35 Wood New Side New Side Shirt S	1	\$44.64	\$1,339.20	\$41.00 \$34.50 \$46.00 \$38.00 \$46.00 \$38.00 \$38.00 \$33.00 \$33.00 \$33.00 \$33.00 \$72.00 \$78.00	\$41,00 \$279,00 \$13,880,00 \$15,280,00 \$38,00 \$38,00 \$33,00 \$35,50 \$13,20,00 \$72,00 \$78,00 \$31,20,00 \$31,00 \$31,00 \$3	\$46.79 \$36.95 \$38.95 \$38.95 \$38.95 \$38.95 \$38.95 \$35.50 \$35.50 \$35.50 \$36.50 \$37.50 \$37.50 \$37.00 \$41.00 \$41.00 \$41.00 \$5	\$46.79 \$221.70 \$1,108.50 \$1,108.50 \$155.80 \$177.90 \$38.95 \$35.50 \$31.420.00 \$76.50 \$99.45 \$382.50 \$1,120.00 \$1148.00 \$148.00 \$51.00 \$51.00 \$1148.00 \$51.00 \$1148.00 \$51.00

233	Keystone	Sentry Snap Adjustable Sweat Band (each size covers 3 numerical	50	\$79.00	\$3,950.00	\$12.00	\$600.00
234	Eiseman-Ludmar	Gold Expansion Band	50	\$7.25	\$362.50		
235	Eiseman-Ludmar	Silver Expansion Band	50	\$8.25	\$412.50		
236	Bidding Entity	Gold FD Button, Prong, each	50	\$1.60	\$80.00	\$2.00	\$100.00
237	Bidding Entity	Silver FD Buton, Prong, each	50	\$1.60	\$80.00	\$2.00	\$100.00
238	Lighthouse	Men's Trousers, Class A, Poly Wool, Black	50	\$100.00	\$5,000.00		
239	Lighthouse	Men's Trousers, Class A, Poly Wool, Black	50	\$109.00	\$5,450.00		
240	Lighthouse	Men's Trousers, Class A, Poly Wool, Black	50	\$119.00	\$5,950.00		
241	Lighthouse	Men's Trousers, Class A, Poly Wool, Black	50	\$129.00	\$6,450.00		
242	Lighthouse	Men's Dress Coat, Class A, 6 Button, Black	50	\$315.00	\$15,750.00		
243	Lighthouse	Men's Dress Coat, Class A, 6 Button, Black	50	\$346.50	\$17,325.00		
244	Lighthouse	Men's Dress Coat, Class A, 6 Button, Black	50	\$378.00	\$18,900.00		
245	Lighthouse	Men's Dress Coat, Class A, 6 Button, Black	50	\$409.50	\$20,475.00		
246	Lighthouse	Bell Style Hat, Black	50	\$72.00	\$3,600.00		
247	Lighthouse	Class A Dress Uniform package-includes shoes	50	\$695.00	\$34,750.00		
248	Wolfmark	Tie-Black, Clip on and Self Tie	50	\$6.00	\$300.00		
249	Wolfmark	Clip-On Tie, Black	50	\$6.00	\$300.00		
250	Wolfmark	Clip-On Tie, Black	50	\$6.00	\$300.00		
251	Wolfmark	Mens Breakaway Tie - Black	5	\$5.50	\$27.50		
252	Wolfmark	Womens Crossover Tie - Black	5	\$5.50	\$27.50		
253	Samuel Broome	Tie 4-In-Hand Custom (Fech material 36 pc min)	50	\$15.00	\$750.00		
254	Samuel Broome	Tie 4-In-Hand Custom (Fech material 36 pc min)	50	\$15.00	\$750.00		
			Sub Total		\$268,084.00		\$114,783.27

	Dress Shoes									
5	Bates	Men's Dress Shoe - Lites Black Hi-Gloss Oxford	50			\$107.00	\$5,350.00	\$89.77	\$4,488.50	
5	Bates	Men's Leather Uniform Oxford Dress Shoe - Low shine	50			\$110.00	\$5,500.00	89.77	\$4,488.50	
'	Bates	Women's Dress Shoe - Hi Gloss Durashocks Oxford	50				\$5,500.00			
			30			\$110.00	\$3,300.00			
3	Rocky	Unisex Dress Shoe - Black Hi-Gloss Oxford	50				\$4,150.00			
	rioury	STILLER STEELS STILL BROKETT GLOSS ONGE	55			\$83.00	\$1,100.00			
			Sub Total				\$20,500.00		\$8,977.00	
					L.					
	Duty Shoes / Boots									
_					AF 400 00	6420.00	A/ F00 00		\$4,915.00	
9	Bates	Men's GX-8 Gore-Tex Side Zip Boot	50	\$108.00	\$5,400.00	\$130.00	\$6,500.00	\$98.30		
)	Bates	Women's GX-8 Gore-Tex Side Zip Boot	50	\$108.00	\$5,400.00	\$130.00	\$6,500.00	\$98.30	\$4,915.00	
	Bates	· ·	t	\$106.00	4-7,	Ţ	1	\$48.30	\$0.00	_
	Dales	Men's Delta Sport Shoe	50				\$0.00		\$0.00	DISCONTI
	Bates		•		†				\$414.80	DISCONT
	Buttos	Durashocks Side Zip boot	5	\$88.50	\$442.50	\$119.00	\$595.00	\$82.96	\$111.00	
	Bates		_		6450.00	\$44F.00	AFTE OD		\$392.05	
		Delta - 8 Side Zip Boot	5	\$90.00	\$450.00	\$115.00	\$575.00	\$78.41	*******	
	Blauer	Boot - Blitz 8" Waterproof	50			\$155.00	\$7,750.00	\$175.49	\$8,774.50	
	Blauer	Boot - Clash 6"	50		i	\$0.00	\$0.00	\$0.00	\$0.00	
	Blauer	Men's Clash LT 6" Boot	50			\$110.00	\$5,500.00	\$133.19	\$6,659.50	
	Blauer	Boot - Clash 6* Waterproof	50		1	\$114.00	\$5,700.00	\$139.49	\$6,974.50	
	Blauer	Women's Boot - Clash 6"	50		†	\$0.00	\$0.00	\$0.00	\$0.00	
	Blauer	Women's Clash LT 6" Boot	50		+	\$112.00	\$5,600.00	\$133.19	\$6,659.50	\dashv
	Blauer	Women's Boot - Clash 6" Waterproof	50		+ +	\$116.00	\$5,800.00	\$139.49	\$6,974.50	-
	Blauer	Boot - Clash 8"	50		+	\$128.00	\$6,400.00	\$137.47	\$0,774.30	-
			50		+	\$128.00	\$6,400.00	\$134.99	ê/ 740 FO	-
	Blauer	Men's Clash LT 8" Boot			+			\$134.99	\$6,749.50	_
	Haix	Boot - Airpower XR1	50		+	\$310.00	\$15,500.00			
	Haix	Women's Boot - Airpower XR1 Ladies	50			\$310.00	\$15,500.00			
	Haix	Airpower XR2 Station boot	5			\$320.00	\$1,600.00			
	Haix	Airpower XR2 Station boot - Womens	5			\$320.00	\$1,600.00			
	Haix	Shoe - Black Eagle Tactical 20 Low	50			\$162.00	\$8,100.00			
	Rocky	Boot - Paraboot 10*	50	\$92.40	\$4,620.00	\$130.00	\$6,500.00			
	Rocky	Boot - Paraboot 10" Waterproof	50	\$106.80	\$5,340.00	\$148.00	\$7,400.00			
	Rocky	Women's Boot - Paraboot 10"	50	\$92.40	\$4,620.00	\$130.00	\$6,500.00			
	Rocky	Shoe - 911 Athletic Oxford Duty	50	\$100.80	\$5,040.00	\$121.00	\$6,050.00			
	Rocky	Women's Shoe - 911 Athletic Oxford Duty	50			\$121.00	\$6,050.00			
	Rocky	Women's Postal TMC Shoe	50	\$93.60	\$4,680.00	\$123.00	\$6,150.00			
	Rocky	10" Pullon	50	\$79.20	\$3,960.00	\$105.00	\$5,250.00			
	Rocky	7* Jump Boot Side Zip	50		***************************************	\$100.00	\$5,000.00			
	Under Armour	Boot - UA Tactical Zip Boot	50			\$100.00	\$5,000.00			
	Under Armour	Men's UA TAC Zip 2.0	50			\$77.00	\$3,850.00			
	5.11	Men's Company Boot CST 2.0	50		+	\$106.00	\$5,300.00		_	-
	5.11	Boot - Taclite 6* Side Zip	50		+	\$77.00	\$3,850.00		_	
			50		+	\$81.00	\$4,050.00			\dashv
	5.11	Boot - Taclite 8" Side Zip			+					_
	5.11 5.11	Women's ATAC 6" Side Zip Boot Slip on Station boot	50		-	\$84.00	\$4,200.00 \$470.00		_	\dashv
	5.11				-	\$94.00			_	-
		5.11 Tactical ATAC womens 8*	5			\$123.00	\$615.00			_
	5.11	5.11 Tactical ATAC Storm 8" Side-Zip Boots	5			\$112.00	\$560.00			
	Pro Warrington	3003, 8" Station Boot	50			\$312.00	\$15,600.00			_
	Pro Warrington	3003, 8" Station Boot	50			\$312.00	\$15,600.00			
	Pro Warrington	3003, 8" Station Boot	50			\$312.00	\$15,600.00			
	Pro Warrington	3003, 8" Station Boot	50			\$312.00	\$15,600.00			
	Danner	Men's Acadia 8" Black Non-insulated	50		\$12,480.00	\$287.00	\$14,350.00		\$12,235.50	1
	1			\$249.60				\$244.71		_
	Danner	Women's Acadia 8* Black Non-insulated	50	\$249.60	\$12,480.00	\$287.00	\$14,350.00	\$244.71	\$12,235.50	
	Danner	Station/Office Boot 6" Black	50			\$0.00	\$0.00	\$0.00	\$0.00	DISCON
	Danner	Striker Torrent 6"	5	\$148.75	\$743.75	\$172.00	\$860.00	\$140.00	\$700.00	
	Thorogood	10" Wildland Fire Boot with removable zipper	20			\$0.00	\$0.00	\$0.00	\$0.00	DISCON
	Thorogood	6" Deuce Side Zip	5			\$93.00	\$465.00	\$76.47	\$382.35	
	Thorogood	Gen-flex2 8" Side Zip (Glossy Toe)	5			\$111.00	\$555.00	\$95.29	\$476.45	
	Thorogood	8" Side Zip	5		1	\$38.00	\$190.00	\$80.00	\$400.00	
	Thorogood	Station/EMS/Wildland Boot	5			\$292.00	\$1,460.00	\$0.00	\$0.00	DISCON
	Thorogood	High gloss dress shoes	5		+	\$63.00	\$315.00	\$51.22	\$256.10	DIDOUN
	uguvu	g. g 222 26002	Sub Total		+ +	400.00	\$271,360.00	\$10 × 1000	\$80,114.75	-1
	4		JUD TUTAL				\$2.1 1,300.00		900, I 14.73	_

					•			
309	V.H. Blackinton	Name Tag Clutch Back 2.25" x 0.5"	50		\$9.50	\$475.00		
310	V.H. Blackinton	Name Tag Clutch Back 2.25" x 0.5"	50		\$9.50	\$475.00	\$9.33	\$466.50
	V.H. Blackinton	Name Tag Clutch Back 2.25" x 0.5"	50		\$9.50	\$475.00		
312	V.H. Blackinton	Name Tag Clutch Back 2.25" x 0.5"	50		\$9.50	\$475.00	\$9.33	\$466.50
313	V.H. Blackinton	Badge 5/16" center seal	50		\$82.00	\$4,100.00	\$72.67	\$3,633.50
314	V.H. Blackinton	Badge 5/16" center seal	50		\$82.00	\$4,100.00	\$72.67	\$3,633.50
315	V.H. Blackinton	Badge 5/16" center seal	50		\$79.00	\$3,950.00	\$69.66	\$3,483.00
316	V.H. Blackinton	Badge 5/16" center seal	50		\$79.00	\$3,950.00	\$69.66	\$3,483.00
317	MTM Recognition	FFD Collar Insignia 3/8" T x 7/8" W "FFD"	50		\$18.00	\$900.00		
318	Blackinton	Double Bugle Pin	5		\$18.00	\$90.00	\$19.33	\$96.65
319	Blackinton	3 Crossed Bugles Pin	5		\$19.00	\$95.00	\$16.47	\$82.35
320	Blackinton	Two Horn Insignia	5		\$14.00	\$70.00	\$14.33	\$71.65
321	Blackinton	3 Crossed Bugle Insignia	5		\$14.00	\$70.00	\$14.33	\$71.65
322	Blackinton	4 crossed Bugle Inisgnia	5		\$35.00	\$175.00	\$17.99	\$89.95
323	Blackinton	5 Crossed Bugle Insignia	5		\$14.00	\$70.00	\$14.33	\$71.65
324	V.H. Blackinton	Bugle collar insignia / disk - 1 horn	50		\$11.00	\$550.00	\$9.73	\$486.50
	V.H. Blackinton	Bugle collar insignia / disk - 2 horns vertical	50		\$11.00	\$550.00	\$9.73	\$486.50
326	V.H. Blackinton	Bugle collar insignia / disk - 2 horns crossed	50		\$11.00	\$550.00	\$9.73	\$486.50
327	V.H. Blackinton	Bugle collar insignia / disk - 2 horns crossed Bugle collar insignia / disk - 3 horns crossed	50		\$11.00	\$550.00	\$9.73 \$9.73	\$486.50
328	V.H. Blackinton	Bugle collar insignia / disk - 3 norns crossed Bugle collar insignia / disk - 4 horns crossed	50		\$11.00	\$550.00	\$9.73 \$9.73	\$486.50
	V.H. Blackinton	Bugle collar insignia / disk - 4 norns crossed Bugle collar insignia / disk - 5 horns crossed	50		\$11.00	\$550.00 \$550.00	\$9.73 \$9.73	\$486.50 \$486.50
329		, ,			\$11.00 \$11.00	\$550.00 \$550.00		\$486.50 \$486.50
330	V.H. Blackinton V.H. Blackinton	Driver/Engineer collar insignia / disk	50		\$11.00 \$17.00	\$550.00 \$850.00	\$9.73	\$486.50 \$770.00
		Bugle collar insignia - 1 horn	50				\$15.40	
332	V.H. Blackinton	Bugle collar insignia - 2 horns crossed	50		\$18.00	\$900.00	\$15.93	\$796.50
	V.H. Blackinton	Bugle collar insignia - 2 horns vertical	50		\$17.00	\$850.00	\$15.40	\$770.00
334	V.H. Blackinton	Bugle collar insignia - 2 horns vertical	50		\$13.50	\$675.00	\$12.53	\$626.50
335	V.H. Blackinton	Bugle collar insignia - 3 horns crossed	50		\$18.00	\$900.00	\$15.93	\$796.50
336	V.H. Blackinton	Bugle collar insignia - 4 horns crossed	5		\$18.00	\$90.00	\$15.93	\$79.65
337	V.H. Blackinton	Bugle collar insignia - 5 horns crossed	5		\$18.00	\$90.00	\$15.93	\$79.65
338	V.H. Blackinton	Driver/Engineer collar insignia	50		\$46.00	\$2,300.00	\$42.00	\$2,100.00
339	V.H. Blackinton	Badge, two tone	50		\$118.00	\$5,900.00	\$109.67	\$5,483.50
340	Smith & Warren	Badge, 1.88* x 2.36*	50		\$64.00	\$3,200.00	\$57.33	\$2,866.50
341	Smith & Warren	Badge, Shield w/Eagle, 2.13* x 2.98*, Full Color TX Seal, Custom Lettering	50		\$105.00	\$5,250.00	\$103.33	\$5,166.50
342	Smith & Warren	Badge, Shield w/Eagle, 2.13* x 2.98*, Full Color TX Seal, Custom Lettering	50		\$95.00	\$4,750.00	\$103.33	\$5,166.50
343	Smith & Warren	Badge, Shield w/Eagle, 2.13" x 2.98", Full Color TX Seal, Custom	50		\$101.00	\$5,050.00	\$103.33	\$5,166.50
344	Smith & Warren	Lettering Badge, Shield w/Eagle, 2.13* x 2.98*, Full Color TX Seal, Custom	50		\$115.00	\$5,750.00		\$5,166.50
345	Smith & Warren	Lettering Badge, Shield w/Eagle, 2.13* x 2.98*, Full Color TX Seal, Custom	50		\$115.00	\$5,750.00	\$103.33	\$5,166.50
346	Smith & Warren	Lettering Badge, Shield w/Eagle, 2.13* x 2.98*, Full Color TX Seal, Custom	50		\$139.00	\$6,950.00	\$103.33	\$5,166.50
347	Smith & Warren	Lettering Badge, Shield w/Eagle, 2.13* x 2.98*, Full Color TX Seal, Custom					\$103.33	
348	Smith & Warren	Lettering Silver Name Plate	50		\$118.00	\$5,900.00	\$103.33	\$5,166.50
			5		\$15.00	\$75.00	\$8.67	\$43.35
349	Smith & Warren	S654 Badge - Nickel Electroplate	5		\$44.00	\$220.00	\$40.00	\$200.00
350	Smith & Warren	S511 Badge - Nickel Electroplate	5		\$89.00	\$445.00	\$80.00	\$400.00
351	Smith & Warren	S511 Badge - Nickel Electroplate	5		\$97.00	\$485.00	\$80.00	\$400.00
352	Smith & Warren	S511 Badge - GOL-RAY w/Silver Panels	5		\$115.00	\$575.00	\$106.67	\$533.35
353	Bidding Entity	Name Plate, Brass Engraved	5		\$8.00	\$40.00		
354	J .,	Name Plate	50		\$8.00	\$400.00		
355	Bidding Entity	Mourning Band - Black 1" Wide	50		\$3.50	\$175.00	\$0.75	\$37.50
356	Edge Eyewear	Safety Glasses	50		\$31.00	\$1,550.00	*****	*****
357	Edge Eyewear	Safety Glasses	50		\$31.00	\$1,550.00		
	- 1	·	Sub Total			\$83,990.00		\$71,203.90
	Miscellaneous	•		•				

Sept 18	358 S	Sport-Tek	Athletic Shorts	50		\$14.00	\$700.00	\$11.50	\$575.00
Series Medic Stein Medic Stein Series									
Section Sect									
Sept March Sept									
Sept March Semples 10 10 10 10 10 10 10 1									
Sect Sect Section									
Sect Sect						* * * * * * * * * * * * * * * * * * * *			
Sept Sept									
Sept Sept									
Sept Tell						* * * * * * * * * * * * * * * * * * * *			
Sport Field Sport Field Sport Field Sport Sport Field Sport Sport Field Sport Sport Sport Field Sport Sport Sport Field Sport Sport Field Sport Sport Field Sport									
State Mars SS 1006, Catach Pale 90 151,000 156,000 156,000 157									
Sear Mars SS 1000 Cotton Palo 50								\$10.50	\$023.00
State Mars SS 100% Cotton No.									
State Mers SS 100% Cotton Pelo 50 51,000									
	-								
State Mars School Cotton Pole 50 50 50 50 50 50 50 5									+
Bload State Stat									
Sear Price Sear Price Sear Price Sear Sear Price Sear Sea						***			
State Merr S S B COOL Performance Pola 50 51,200.00 51,000 52,200.00 51,000 52,000.00									
Section Sect									
Blaser								******	
Blauer						*****			
State State Mers SS B COOL Performance Pole 50 50 50 50 50 50 50 5									
State State Men's SS B COOL Performance Polo 50 50 52,622.50 52,622.50									
State State Women's SCS B.COOL Performance Pole 50 50 50 51 52 52 52 53 53 53 53 53						*****			
State State Women's SS B COOL Performance Polo 50 50 50 51 515									
Russell Athletic Mesh Short, 9' Inseam, 100% Polyester, Navy 50 50 515.00 515.00 515.00 514.95 5897.00									
Side Side Seed Parks Open Bottom Sport Grey 50 50 514.95 5897.00 514.95 5897.00 514.95 5897.00 514.95 5897.00 514.95 5897.00 514.95 5897.00 514.95 5897.00 514.95								\$40.49	\$2,024.50
Section Sect				50					
889 Water Safety Sulm Shorts-Red 50 43.00 \$2,150.00 \$2,150.00 \$380.0 \$17.35 \$867.50 1990 Port and Co Station Duffel Bag 50 \$190.0 \$190.0 \$990.00 \$17.35 \$867.50 391 Boston Leather B Black Bet 20 \$16.50 \$380.0 \$400.00 \$12.20 \$244.00 392 Champion Color Shorts 50 \$8.00 \$400.00 \$100.00 \$12.20 \$244.00 394 Champion Alary Cotton Short 100 \$9.50 \$850.00 \$400.00 \$100.00 <td></td> <td></td> <td></td> <td>60</td> <td></td> <td></td> <td></td> <td>\$14.95</td> <td>\$897.00</td>				60				\$14.95	\$897.00
	388 G	Gildan	Sweat Pants Open Botttom Sport Grey	50		\$20.00	\$1,000.00		
Second Leather Stack Belt Belt Stack Belt Belt Stack Belt Belt Stack Belt Belt Belt Stack Belt Belt Belt Belt Belt Belt Belt Belt	389 V	Vater Safety		50					
Section State Section Sectio									
938 Champion Navy Cotton Short 100 9.00 98.50 98	391 B	Boston Leather	Black Belt					\$12.20	\$244.00
	392 C	Champion	Cotton Shorts	50					
	393 C	Champion		100				_	
	394 5	.11	Tactical Trainer Belt			\$36.00	\$1,800.00	_	
377 511 Mer's LS PDU Class B Twill Shirt, White Admin 50 50 55,000 52,00	395 5	.11	Tactical Trainer Belt	50		\$40.00	\$2,000.00		
998 5.11 Mer's SIS PDU Class B Twill Shirt, White Admin 50 \$47.00 \$2,350.00 \$2,500.00 399 5.11 Mer's SIS PDU Class B Twill Shirt, White Admin 50 \$50.00 \$50.00 \$2,500.00 400 Richardson Hals Dryve R-Flex Cap 1.25 \$11.50 \$1,437.50 401 Richardson Hals Trucker OSFA Iwill mesh snap-back 125 \$65.50 \$812.50 401 Sub Total \$68.340.00 \$68.340.00 \$28.922.50	396 5	.11	Men's L/S PDU Class B Twill Shirt, White Admin	50		\$47.00	\$2,350.00	•	
399 5.11 Men's SIS PDU Class B Twill Shirt, White Admin 50 \$50.00 \$2,500.00 \$2,500.00 \$1,437.50	397 5	.11	Men's L/S PDU Class B Twill Shirt, White Admin		,	\$50.00	\$2,500.00	-	
400 Richardson Hals Dyve R-Flex Cap 125 \$1150 \$11,50 \$1,437.50 \$1,437.50 401 Richardson Hals Trucker OSFA twill mesh snap-back 125 \$6.50 \$812.50 \$812.50 \$28.22.50 401 Sub Total \$1,437.50 \$6.50 \$812.50 \$28.22.50 \$28.22.50	398 5	.11	Men's S/S PDU Class B Twill Shirt, White Admin	50	_	\$47.00	\$2,350.00	•	
401 Richardson Hals Trucker OSFA twill mesh snap-back 125 Sub Total S650 S812.50 S882.50 S82.50 399 5	.11	Men's S/S PDU Class B Twill Shirt, White Admin	50		\$50.00	\$2,500.00			
Sub Total \$68,340.00 \$58,340.00 \$28,922.50	400 R	tichardson Hats	Dryve R-Flex Cap	125		\$11.50	\$1,437.50		
Sub Total \$68,340.00 \$58,340.00 \$28,922.50	401 R	Richardson Hats	Trucker OSFA twill mesh snap-back	125		\$6.50	\$812.50		
			·						\$28,922.50
	F	ire Marshal Office			•		_		-

F		La company acco	1	i	1	1	1		
402 403	Corner Stone Corner Stone	Men's S/S Polo Shirt Men's S/S Polo Shirt	50 50		-	\$26.00 \$28.00	\$1,300.00 \$1,400.00	\$22.85 \$24.00	\$1,142.50 \$1,200.00
404	Corner Stone	Women's S/S Polo Shirt	50			\$26.00 \$26.00	\$1,400.00	\$24.00 \$22.85	\$1,200.00
	Corner Stone	Women's S/S Polo Shirt	50			\$28.00	\$1,400.00	\$24.00	\$1,200.00
	Blauer	Men's Flextech Tactical Trousers (Utility)	50			\$77.00	\$3.850.00	\$76.49	\$3.824.50
407	Blauer	Women's Flextech Tactical Trousers (Utility)	50			\$77.00	\$3,850.00	\$76.49	\$3,824.50
408	Blauer	Men's Operational Trouser (Utility)	50			\$54.00	\$2,700.00	\$53.99	\$2,699.50
	Blauer	Women's Operational Trousers (Utility)	50			\$54.00	\$2,700.00	\$53.99	\$2,699.50
410	Carhartt	Men's Fire Resistive Coveralls	50			\$89.00	\$4,450.00		
411	Carhartt	Men's Fire Resistive Coveralls	50			\$98.00	\$4,900.00		
	Bulwark	Men's Fire Resistive Coveralls	50			\$161.00	\$8,050.00	\$166.50	\$8,325.00
413	Bulwark Bulwark	Men's Fire Resistive Coveralls Men's Fire Resistive Coveralls	50		-	\$191.00 \$161.00	\$9,550.00 \$8.050.00	\$166.50 \$166.50	\$8,325.00 \$8,325.00
	Bulwark	Men's Fire Resistive Coveralls Men's Fire Resistive Coveralls	50 50			\$161.00 \$191.00	\$8,050.00	\$166.50 \$166.50	\$8,325.00
	Bulwark	Women's Fire Resistive Coveralis Women's Fire Resistive Coveralls	50			\$191.00	\$9,550.00	\$166.50 \$166.50	\$8,325.00
	Bulwark	Women's Fire Resistive Coveralls	50			\$191.00	\$9,550.00	\$166.50	\$8,325.00
	5.11	Men's Taclite Pro Uniform Shorts	50			\$46.00	\$2,300.00	9100.00	\$0,020.00
	5.11	S/S Professional T-Shirt, Fire Navy	50			\$20.00	\$1,000.00		
	5.11	S/S Professional T-Shirt, Fire Navy	50			\$25.00	\$1,250.00		
	5.11	L/S Professional T-Shirt, Fire Navy	50			\$25.00	\$1,250.00		
	5.11	L/S Professional T-Shirt, Fire Navy	50			\$31.00	\$1,550.00		
	5.11	Storm 1/4 Zip Job Shirt, Waterproof, Fire Navy	50			\$68.00	\$3,400.00	-	
	5.11	Storm 1/4 Zip Job Shirt, Waterproof, Fire Navy	50			\$76.00	\$3,800.00	·	
	5.11	Taclite Reversible Company Jacket, Fire Navy	50		L	\$93.00	\$4,650.00		
	5.11	Taclite Reversible Company Jacket, Fire Navy	50		.	\$107.00	\$5,350.00		
	Blauer	Men's S/S Bicomponent Polo, Cotton Blend	50		1	\$36.00	\$1,800.00	\$35.99	\$1,799.50
	Blauer Blauer	Men's L/S Bicomponent Polo, Cotton Blend Men's Streetgear 6-Pkt Pant. 65 Poly/35 Cotton	50 50		 	\$42.00 \$65.00	\$2,100.00 \$3.250.00	\$40.49 \$67.49	\$2,024.50 \$3.374.50
	Blauer	Stretch Fitted Cap	50 50		 	\$65.00 \$10.00	\$3,250.00 \$500.00	\$67.49 \$10.79	\$3,374.50 \$539.50
	Blauer	Stretch Adjustable Cap	50	 	 	\$10.00 \$12.00	\$500.00	\$10.79 \$10.79	\$539.50 \$539.50
	Blauer	Watch Cap	50		-	\$16.00	\$800.00	\$10.79	\$944.50
	Blauer	Skull Cap	50			\$19.50	\$975.00	\$22.49	\$1,124.50
	Blauer	Men's 4-Pkt Nomex Station Pant, Navy	50			\$115.00	\$5,750.00	VAL. 17	\$1,12 1.00
	Blauer	Men's 6-Pkt Nomex Station Pant, Navy	50			\$132.00	\$6,600.00		
436	Yupoong	Flex Fit Cap	30			\$8.00	\$240.00		
437	Yupoong	Flat visor Flex fit cap	30			\$9.00	\$270.00		
	Yupoong	Beanie-Navy	20			\$11.00	\$220.00		
	5.11	Tactical Uniform Hat	20			\$7.50	\$150.00		
	Propper	Boonie Hat - Navy	10			\$8.00	\$80.00	\$15.00	\$150.00
	Blauer	Trousers - 4 Pocket Wool Blend	50			\$73.00	\$3,650.00	\$76.49	\$3,824.50
442	Blauer	Trousers - 4 Pocket Wool Blend	50			\$92.00	\$4,600.00	\$99.43	\$4,971.50
443	Blauer	Women's Trousers - 4 Pocket Wool Blend	50			\$73.00	\$3,650.00	\$76.49	\$3,824.50
444	Bidding Entity	Coat - Single Breasted with Simulated Pockets	50						
445	Bidding Entity								
446		Coat - Single Breasted with Simulated Pockets	50						
	Blauer	Coat - Single Breasted with Simulated Pockets Sweater - Jersey Knit, Any color	50 50			\$93.00	\$4,650.00	\$89.99	\$4,499.50
447	Blauer Blauer	J				\$93.00 \$93.00	\$4,650.00 \$4,650.00	\$89.99 \$89.99	\$4,499.50 \$4,499.50
448	Blauer Blauer	Sweater - Jersey Knit, Any color Sweater - Jersey Knit, Any color Sweater - Quarter Zip	50			\$93.00 \$94.00	\$4,650.00 \$4,700.00		\$4,499.50 \$4,724.50
	Blauer	Sweater - Jersey Knit, Any color Sweater - Jersey Knit, Any color	50 50			\$93.00	\$4,650.00	\$89.99	\$4,499.50
448	Blauer Blauer	Sweater - Jersey Knit, Any color Sweater - Jersey Knit, Any color Sweater - Quarter Zip	50 50 50			\$93.00 \$94.00	\$4,650.00 \$4,700.00	\$89.99 \$94.49	\$4,499.50 \$4,724.50
448 449	Blauer Blauer Blauer	Sweater - Jersey Knit, Any color Sweater - Jersey Knit, Any color Sweater - Quarter Zip Sweater - Quarter Zip	50 50 50 50			\$93.00 \$94.00 \$94.00	\$4,650.00 \$4,700.00 \$4,700.00	\$89.99 \$94.49 \$94.49	\$4,499.50 \$4,724.50 \$4,724.50
448 449 450	Blauer Blauer Blauer Bidding Entity	Sweater - Jersey Krit, Any color Sweater - Jersey Krit, Any color Sweater - Ouarter Zip Sweater - Ouarter Zip Trousers, Class A, Poly Wool, Black	50 50 50 50 50			\$93.00 \$94.00 \$94.00 \$77.00	\$4,650.00 \$4,700.00 \$4,700.00 \$3,850.00	\$89.99 \$94.49 \$94.49 \$99.00	\$4,499.50 \$4,724.50 \$4,724.50 \$4,950.00
448 449 450 451	Blauer Blauer Blauer Bidding Entity Bidding Entity	Sweater - Jersey Knit, Any color Sweater - Jersey Knit, Any color Sweater - Ouarter Zip Sweater - Ouarter Zip Trousers, Class A, Poty Wool, Black Coat, Class A, 6 Button, Black	50 50 50 50 50 50			\$93.00 \$94.00 \$94.00 \$77.00 \$325.00	\$4,650.00 \$4,700.00 \$4,700.00 \$3,850.00 \$16,250.00	\$89.99 \$94.49 \$94.49 \$99.00 \$254.00	\$4,499.50 \$4,724.50 \$4,724.50 \$4,950.00 \$12,700.00
448 449 450 451 452	Blauer Blauer Blauer Bidding Entity Bidding Entity Bidding Entity	Sweater - Jersey Knil, Any color Sweater - Jersey Knil, Any color Sweater - Oustret Zip Sweater - Oustret Zip Trousers, Class A, Poly Wool, Black Coat. Class A, 6 Bulton, Black Bell Style Hat, Black	50 50 50 50 50 50 50 50			\$93.00 \$94.00 \$94.00 \$77.00 \$325.00	\$4,650.00 \$4,700.00 \$4,700.00 \$3,850.00 \$16,250.00	\$89.99 \$94.49 \$94.49 \$99.00 \$254.00	\$4,499.50 \$4,724.50 \$4,724.50 \$4,950.00 \$12,700.00
448 449 450 451 452	Blauer Blauer Blauer Blidding Entity Bidding Entity Bidding Entity Bidding Entity	Sweater - Jersey Knil, Any color Sweater - Jersey Knil, Any color Sweater - Oustret Zip Sweater - Oustret Zip Trousers, Class A, Poly Wool, Black Coat. Class A, 6 Bulton, Black Bell Style Hat, Black	50 50 50 50 50 50 50			\$93.00 \$94.00 \$94.00 \$77.00 \$325.00	\$4,650.00 \$4,700.00 \$4,700.00 \$3,850.00 \$16,250.00 \$5,450.00	\$89.99 \$94.49 \$94.49 \$99.00 \$254.00	\$4,499.50 \$4,724.50 \$4,724.50 \$4,724.50 \$4,950.00 \$12,700.00 \$2,450.00
448 449 450 451 452 453 Duty Shoes / E	Blauer Blauer Blauer Blidding Entity Bidding Entity Bidding Entity Bidding Entity	Sweater - Jersey Knil, Any color Sweater - Jersey Knil, Any color Sweater - Oustret Zip Sweater - Oustret Zip Trousers, Class A, Poly Wool, Black Coat. Class A, 6 Bulton, Black Bell Style Hat, Black	50 50 50 50 50 50 50 50 50 50 Sub Total			\$93.00 \$94.00 \$94.00 \$77.00 \$325.00	\$4,650.00 \$4,700.00 \$4,700.00 \$3,850.00 \$16,250.00 \$5,450.00	\$89.99 \$94.49 \$94.49 \$99.00 \$254.00	\$4,499.50 \$4,724.50 \$4,724.50 \$4,724.50 \$4,950.00 \$12,700.00 \$2,450.00
448 449 450 451 452 453 Duty Shoes / E	Blauer Blauer Blauer Blauer Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity	Sweater - Jersey Kritl, Arry color Sweater - Jersey Kritl, Arry color Sweater - Ouarter Zip Sweater - Ouarter Zip Trousers, Class A, Poly Wool, Black Coat, Class A, 6 Button, Black Bell Style Hal, Black Class A Dress Uniform package-includes shoes Men's Airpower R2 Boot	50 50 50 50 50 50 50 50 50 Sub Total			\$93.00 \$94.00 \$94.00 \$77.00 \$325.00 \$109.00	\$4,650.00 \$4,700.00 \$4,700.00 \$3,850.00 \$16,250.00 \$5,450.00 \$184,685.00	\$89.99 \$94.49 \$94.49 \$99.00 \$254.00	\$4,499.50 \$4,724.50 \$4,724.50 \$4,724.50 \$4,950.00 \$12,700.00 \$2,450.00
448 449 450 451 452 453 Duty Shoes / E 454	Blauer Blauer Blauer Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity	Sweater - Jersey Kritl, Arry color Sweater - Jersey Kritl, Arry color Sweater - Ouarter Zip Sweater - Ouarter Zip Trousers, Class A, Poly Wool, Black Coat, Class A, 6 Button, Black Bell Skyle Hat, Black Class A Dress Uniform package-includes shoes Men's Airpower R2 Boot Men's Airpower R2 Boot Men's Airpower R2 Boot	50 50 50 50 50 50 50 50 50 Sub Total			\$93.00 \$94.00 \$94.00 \$77.00 \$325.00 \$109.00	\$4,650.00 \$4,700.00 \$4,700.00 \$3,850.00 \$16,250.00 \$5,450.00 \$184,685.00 \$3,250.00 \$3,250.00	\$89.99 \$94.49 \$94.49 \$99.00 \$254.00	\$4,499.50 \$4,724.50 \$4,724.50 \$4,724.50 \$4,950.00 \$12,700.00 \$2,450.00
448 449 450 451 452 453 Duty Shoes / E 454 455 456	Blauer Blauer Blauer Blauer Blading Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Soots Halix Halix Halix	Sweater - Jersey Knil, Any color Sweater - Jersey Knil, Any color Sweater - Outer Pip Sweater - Outer Pip Sweater - Outer Pip Sweater - Outer Pip Trousers, Class A, Poly Wool, Black Coat, Class A, & Button, Black Bell Style Hat, Black Class A Dress Uniform package-includes shoes Men's Airpower R2 Boot Women's Airpower R2 Boot Women's Airpower R2 Boot	50 50 50 50 50 50 50 50 50 Sub Total			\$93.00 \$94.00 \$94.00 \$77.00 \$325.00 \$109.00 \$325.00 \$325.00 \$325.00	\$4,650.00 \$4,700.00 \$4,700.00 \$3,850.00 \$16,250.00 \$5,450.00 \$184,685.00 \$33,250.00 \$3,250.00 \$3,250.00	\$89.99 \$94.49 \$94.49 \$99.00 \$254.00	\$4,499.50 \$4,724.50 \$4,724.50 \$4,724.50 \$4,950.00 \$12,700.00 \$2,450.00
448 449 450 451 452 453 Duty Shoes / B 454 455 456	Blauer Blauer Blauer Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Halix Halix Halix	Sweater - Jersey Kritl, Any color Sweater - Jersey Kritl, Any color Sweater - Ouarter Zip Sweater - Ouarter Zip Sweater - Ouarter Zip Trousers, Class A, Poly Wool, Black Coat, Class A, 6 Button, Black Bell Style Hal, Black Class A Dress Uniform package-includes shoes Men's Airpower R2 Boot Men's Airpower R2 Boot Women's Airpower R2 Boot Women's Airpower R2 Boot	50 50 50 50 50 50 50 50 50 50 50 50 10 10	515.44	5.6.7 on	\$93.00 \$94.00 \$94.00 \$77.00 \$325.00 \$109.00 \$325.00 \$325.00 \$325.00 \$325.00	\$4,650.00 \$4,700.00 \$4,700.00 \$3,850.00 \$16,250.00 \$5,450.00 \$184,685.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00	\$89.99 \$94.49 \$94.49 \$99.00 \$254.00	\$4,499.50 \$4,724.50 \$4,724.50 \$4,724.50 \$4,950.00 \$12,700.00 \$2,450.00
448 449 450 451 452 453 Duty Shoes / E 454 455 456 457	Blauer Blauer Blauer Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Soots Halix Halix Halix Under Armour	Sweater - Jersey Knit, Any color Sweater - Jersey Knit, Any color Sweater - Ounter Zip Sweater - Ounter Zip Trousers, Class A, Poly Wool, Black Coat, Class A, 6 Button, Black Bell Slyle Hal, Black Class A Dress Uniform package-includes shoes Men's Airpower R2 Boot Women's Airpower R2 Boot Women's Airpower R2 Boot Women's Airpower R2 Boot Crew Socks - Black Spck	50 50 50 50 50 50 50 50 50 50 10 10 10 10 30	\$15.46	\$463.90	\$93.00 \$94.00 \$94.00 \$77.00 \$325.00 \$109.00 \$325.00 \$325.00 \$325.00 \$325.00 \$325.00 \$325.00	\$4,650.00 \$4,700.00 \$4,700.00 \$3,850.00 \$16,250.00 \$5,450.00 \$184,685.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$5,450.00	\$89.99 \$94.49 \$94.49 \$99.00 \$254.00	\$4,499.50 \$4,724.50 \$4,724.50 \$4,724.50 \$4,950.00 \$12,700.00 \$2,450.00
448 449 450 451 452 453 Duty Shoes / B 454 455 456	Blauer Blauer Blauer Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Halix Halix Halix	Sweater - Jersey Kritl, Any color Sweater - Jersey Kritl, Any color Sweater - Ouarter Zip Sweater - Ouarter Zip Sweater - Ouarter Zip Trousers, Class A, Poly Wool, Black Coat, Class A, 6 Button, Black Bell Style Hal, Black Class A Dress Uniform package-includes shoes Men's Airpower R2 Boot Men's Airpower R2 Boot Women's Airpower R2 Boot Women's Airpower R2 Boot	50 50 50 50 50 50 50 50 50 50 50 10 10 10 10 30	\$15.46	\$463.80	\$93.00 \$94.00 \$94.00 \$77.00 \$325.00 \$109.00 \$325.00 \$325.00 \$325.00 \$325.00	\$4,650.00 \$4,700.00 \$4,700.00 \$3,850.00 \$16,250.00 \$5,450.00 \$184,665.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00	\$89.99 \$94.49 \$94.49 \$99.00 \$254.00	\$4.499.50 \$4.724.50 \$4.724.50 \$4.950.00 \$12,700.00 \$2,450.00 \$129.348.00
448 449 450 451 452 453 Duty Shoes / E 454 455 456 457 458 459	Blauer Blauer Blauer Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Under Armour Under Armour	Sweater - Jersey Knit, Any color Sweater - Jersey Knit, Any color Sweater - Ounter Zip Sweater - Ounter Zip Trousers, Class A, Poly Wool, Black Coat, Class A, 6 Button, Black Bell Slyle Hal, Black Class A Dress Uniform package-includes shoes Men's Airpower R2 Boot Women's Airpower R2 Boot Women's Airpower R2 Boot Women's Airpower R2 Boot Crew Socks - Black Spck	50 50 50 50 50 50 50 50 50 50 10 10 10 10 30	\$15.46	\$463.80	\$93.00 \$94.00 \$94.00 \$77.00 \$325.00 \$109.00 \$325.00 \$325.00 \$325.00 \$325.00 \$325.00 \$325.00	\$4,650.00 \$4,700.00 \$4,700.00 \$3,850.00 \$16,250.00 \$5,450.00 \$184,685.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$5,450.00	\$89.99 \$94.49 \$94.49 \$99.00 \$254.00	\$4,499.50 \$4,724.50 \$4,724.50 \$4,724.50 \$4,950.00 \$12,700.00 \$2,450.00
448 449 450 451 451 452 453 Duty Shoes / E 454 455 456 457 458 459 Badges & Coll	Blauer Blauer Blauer Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Under Armour Under Armour Under Armour ar Devices	Sweater - Jersey Krill, Any color Sweater - Jersey Krill, Any color Sweater - Jersey Krill, Any color Sweater - Outer IP Sweater - Outer IP Sweater - Outer IP Trousers, Class A, Poly Wool, Black Coat, Class A, & Bullon, Black Bell Style Hat, Black Class A Dress Uniform package-includes shoes Men's Airpower R2 Boot Women's Airpower R2 Boot Women's Airpower R2 Boot Crew Socks - Black 3 pack	50 50 50 50 50 50 50 50 50 50 50 10 10 10 10 30 30 Sub Total	\$15.46	\$463.80	\$93,00 \$94,00 \$94,00 \$77,00 \$325,00 \$109,00 \$325,00 \$325,00 \$325,00 \$325,00 \$325,00 \$325,00 \$325,00 \$318,00 \$14,00	\$4,650.00 \$4,700.00 \$4,700.00 \$3,850.00 \$16,250.00 \$5,450.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00	\$89.99 \$94.49 \$94.49 \$99.00 \$254.00 \$49.00	\$4,499.50 \$4,724.50 \$4,724.50 \$4,950.00 \$12,700.00 \$2,450.00 \$129,348.00
448 449 450 451 452 453 Duty Shoes / E 454 455 456 457 458 459 Badges & Coll 460	Blauer Blauer Blauer Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Soots Haix Haix Haix Under Armour Under Armour	Sweater - Jersey Knit, Any color Sweater - Jersey Knit, Any color Sweater - Ounter Zip Sweater - Ounter Zip Trousers, Class A, Poly Wool, Black Coat, Class A, 6 Button, Black Bell Slyle Hal, Black Class A Dress Uniform package-includes shoes Men's Airpower R2 Boot Women's Airpower R2 Boot Women's Airpower R2 Boot Women's Airpower R2 Boot Crew Socks - Black Spck	50 50 50 50 50 50 50 50 50 50 50 10 10 10 10 30	\$15.46	\$463.90	\$93.00 \$94.00 \$94.00 \$77.00 \$325.00 \$109.00 \$325.00 \$325.00 \$325.00 \$325.00 \$325.00 \$325.00	\$4,650.00 \$4,700.00 \$4,700.00 \$3,850.00 \$16,250.00 \$5,450.00 \$184,665.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00	\$89.99 \$94.49 \$94.49 \$99.00 \$254.00	\$4,499.50 \$4,724.50 \$4,724.50 \$4,950.00 \$12,700.00 \$2,450.00 \$129,348.00
448 449 450 451 452 453 Duty Shoes / E 454 455 456 457 458 459 Badges & Coll 460 Fire Marshal	Blauer Blauer Blauer Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Soots Haix Haix Haix Under Armour Under Armour Under Armour Under Armour	Sweater - Jersey Knit, Any color Sweater - Jersey Knit, Any color Sweater - Ouarter Zip Sweater - Ouarter Zip Sweater - Ouarter Zip Trousers, Class A, Poly Woot, Black Coat, Class A, 6 Button, Black Bell Style Hat, Black Class A Dress Uniform package-includes shoes Men's Airpower R2 Boot Men's Airpower R2 Boot Women's Airpower R2 Boot Vomen's Airpower R2 Boot Crew Socks - Black Spck Low Socks - Black 3 pack Collar Insignia FFD, Nickel or Gold	50 50 50 50 50 50 50 50 50 50 50 50 10 10 10 10 10 30 30 Sub Total	\$15.46	\$463.80	\$93.00 \$94.00 \$94.00 \$77.00 \$325.00 \$109.00 \$325.00 \$325.00 \$325.00 \$325.00 \$325.00 \$318.00 \$14.00	\$4,650.00 \$4,700.00 \$4,700.00 \$3,850.00 \$16,250.00 \$5,450.00 \$184,685.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00	\$89.99 \$94.49 \$94.49 \$99.00 \$254.00 \$49.00	\$4,499.50 \$4,724.50 \$4,724.50 \$4,950.00 \$12,700.00 \$2,450.00 \$129,348.00
448 449 450 451 452 453 Duty Shoes / E 454 455 456 457 458 459 Badges & Coll 460	Blauer Blauer Blauer Blauer Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Under Armour Under Armour Under Armour Ar Devices V.H. Blackinton Carhartt	Sweater - Jersey Krill, Any color Sweater - Jersey Krill, Any color Sweater - Jersey Krill, Any color Sweater - Outer Tp Sweater - Outer Tp Sweater - Outer Zip Trousers, Class A, Poly Wool, Black Coack Class A, Bullon, Black Bell Style Hat, Black Class A Dress Uniform package-includes shoes Men's Airpower R2 Boot Men's Airpower R2 Boot Women's Airpower R2 Boot Women's Airpower R2 Boot Crew Socks - Black 3 pack Collar Insignia FFD, Nickel or Gold Men's Fire Resistant Traditional Coverali	50 50 50 50 50 50 50 50 50 50 50 10 10 10 10 30 30 Sub Total	\$15.46	\$463.90	\$93.00 \$94.00 \$94.00 \$77.00 \$325.00 \$109.00 \$325.00 \$325.00 \$325.00 \$325.00 \$325.00 \$34.00 \$14.00	\$4,650.00 \$4,700.00 \$4,700.00 \$3,850.00 \$16,250.00 \$16,250.00 \$3,450.00 \$3,2	\$89.99 \$94.49 \$94.49 \$99.00 \$254.00 \$49.00	\$4,499.50 \$4,724.50 \$4,724.50 \$4,950.00 \$12,700.00 \$2,450.00 \$129,348.00
448 449 450 451 451 452 453 Duty Shoes / E 454 455 456 457 458 459 Badges & Coll 460 Fire Marshal	Blauer Blauer Blauer Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Soots Haix Haix Haix Under Armour Under Armour Under Armour Under Armour	Sweater - Jersey Knit, Any color Sweater - Jersey Knit, Any color Sweater - Ouarter Zip Sweater - Ouarter Zip Sweater - Ouarter Zip Trousers, Class A, Poly Woot, Black Coat, Class A, 6 Button, Black Bell Style Hat, Black Class A Dress Uniform package-includes shoes Men's Airpower R2 Boot Men's Airpower R2 Boot Women's Airpower R2 Boot Vomen's Airpower R2 Boot Crew Socks - Black Spck Low Socks - Black 3 pack Collar Insignia FFD, Nickel or Gold	50 50 50 50 50 50 50 50 50 50 50 50 10 10 10 10 10 30 30 Sub Total	\$15.46	\$463.90	\$93.00 \$94.00 \$94.00 \$77.00 \$325.00 \$109.00 \$325.00 \$325.00 \$325.00 \$325.00 \$325.00 \$318.00 \$14.00	\$4,650.00 \$4,700.00 \$4,700.00 \$3,850.00 \$16,250.00 \$5,450.00 \$184,685.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00	\$89.99 \$94.49 \$94.49 \$99.00 \$254.00 \$49.00	\$4,499.50 \$4,724.50 \$4,724.50 \$4,950.00 \$12,700.00 \$2,450.00 \$129,348.00
448 449 450 451 452 453 Duty Shoes / E 454 454 455 456 457 458 459 Badges & Coll. 460 Fire Marshal	Blauer Blauer Blauer Blauer Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Under Armour Under Armour Under Armour Ar Devices V.H. Blackinton Carhartt	Sweater - Jersey Krill, Any color Sweater - Jersey Krill, Any color Sweater - Jersey Krill, Any color Sweater - Outer Tp Sweater - Outer Tp Sweater - Outer Zip Trousers, Class A, Poly Wool, Black Coack Class A, Bullon, Black Bell Style Hat, Black Class A Dress Uniform package-includes shoes Men's Airpower R2 Boot Men's Airpower R2 Boot Women's Airpower R2 Boot Women's Airpower R2 Boot Crew Socks - Black 3 pack Collar Insignia FFD, Nickel or Gold Men's Fire Resistant Traditional Coverali	50 50 50 50 50 50 50 50 50 50 50 50 50 10 10 10 10 20 20	\$15.46	\$463.90	\$93.00 \$94.00 \$94.00 \$77.00 \$325.00 \$109.00 \$325.00 \$325.00 \$325.00 \$325.00 \$325.00 \$34.00 \$14.00	\$4,650.00 \$4,700.00 \$4,700.00 \$3,850.00 \$16,250.00 \$5,450.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$13,950.00 \$13,960.00 \$11,780.00 \$11,780.00	\$89.99 \$94.49 \$94.49 \$99.00 \$254.00 \$49.00	\$4,499.50 \$4,724.50 \$4,724.50 \$4,950.00 \$12,700.00 \$2,450.00 \$129,348.00 \$0.00 \$366.60
448 449 450 451 452 453 Duty Shoes / E 454 454 455 456 457 458 Badges & Coll. Fire Marshal 461	Blauer Blauer Blauer Blauer Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Under Armour Under Armour Under Armour Ar Devices V.H. Blackinton Carhartt	Sweater - Jersey Krill, Any color Sweater - Jersey Krill, Any color Sweater - Jersey Krill, Any color Sweater - Outer Tp Sweater - Outer Tp Sweater - Outer Zip Trousers, Class A, Poly Wool, Black Coack Class A, Bullon, Black Bell Style Hat, Black Class A Dress Uniform package-includes shoes Men's Airpower R2 Boot Men's Airpower R2 Boot Women's Airpower R2 Boot Women's Airpower R2 Boot Crew Socks - Black 3 pack Collar Insignia FFD, Nickel or Gold Men's Fire Resistant Traditional Coverali	50 50 50 50 50 50 50 50 50 50 50 50 10 10 10 10 10 30 30 Sub Total	\$15.46	\$463.90	\$93.00 \$94.00 \$94.00 \$77.00 \$325.00 \$109.00 \$325.00 \$325.00 \$325.00 \$325.00 \$325.00 \$34.00 \$14.00	\$4,650.00 \$4,700.00 \$4,700.00 \$3,850.00 \$16,250.00 \$16,250.00 \$3,450.00 \$3,2	\$89.99 \$94.49 \$94.49 \$99.00 \$254.00 \$49.00	\$4,499.50 \$4,724.50 \$4,724.50 \$4,950.00 \$12,700.00 \$2,450.00 \$129,348.00
448 449 450 451 452 453 Duty Shoes / E 454 454 455 456 457 458 459 Badges & Coll. 460 Fire Marshal	Blauer Blauer Blauer Blauer Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Bidding Entity Under Armour Under Armour Under Armour Ar Devices V.H. Blackinton Carhartt	Sweater - Jersey Krill, Any color Sweater - Jersey Krill, Any color Sweater - Jersey Krill, Any color Sweater - Outer Tp Sweater - Outer Tp Sweater - Outer Zip Trousers, Class A, Poly Wool, Black Coack Class A, Bullon, Black Bell Style Hat, Black Class A Dress Uniform package-includes shoes Men's Airpower R2 Boot Men's Airpower R2 Boot Women's Airpower R2 Boot Women's Airpower R2 Boot Crew Socks - Black 3 pack Collar Insignia FFD, Nickel or Gold Men's Fire Resistant Traditional Coverali	50 50 50 50 50 50 50 50 50 50 50 50 50 10 10 10 10 20 20	\$15.46	\$463.80	\$93.00 \$94.00 \$94.00 \$77.00 \$325.00 \$109.00 \$325.00 \$325.00 \$325.00 \$325.00 \$325.00 \$34.00 \$14.00	\$4,650.00 \$4,700.00 \$4,700.00 \$3,850.00 \$16,250.00 \$5,450.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$3,250.00 \$13,950.00 \$13,960.00 \$11,780.00 \$11,780.00	\$89.99 \$94.49 \$94.49 \$99.00 \$254.00 \$49.00	\$4,499.50 \$4,724.50 \$4,724.50 \$4,950.00 \$12,700.00 \$2,450.00 \$129,348.00 \$0.00 \$366.60

Blanket Discounts	Percent (%)	Blanket Discounts	Percent (%)	Blanket Discounts	Percent (%)
Workrite discount off MSRP	0%	Workrite discount off MSRP	15%	Workrite discount off MSRP	20%
Blauer discount off Texas Price List	0%	Blauer discount off Texas Price List	34%	Blauer discount off Texas Price List	20 off MSRP%
5.11 discount off MSRP	0%	5.11 discount off MSRP	13%	5.11 discount off MSRP	0%
Lighthouse discount off MSRP	0%	Lighthouse discount off MSRP	15%	Lighthouse discount off MSRP	0%
Blackinton	0%	Blackinton	15%	Blackinton	30%
Smith & Warren	0%	Smith & Warren	15%	Smith & Warren	30%
Haix	0%	Haix	15%	Haix	5%
Carhartt	0%	Carhartt	15%	Carhartt	0%
Yupoong	0%	Yupoong	15%	Yupoong	0%
Dickies	0%	Dickies	15%	Dickies	10%
Flying Cross	0%	Flying Cross	25%	Flying Cross	18%
Fechheimer	0%	Fechheimer	25%	Fechheimer	18%
Bales	0%	Bates	23%	Bates	35%
Under Armour	0%	Under Armour	25%	Under Armour	15%
Elbeco	0%	Elbeco	25%	Elbeco	15%

Galls.com	
Apparel	20%
Footwear	15%
Vehicle Equipment	10%
Flashlight	10%
Bags	20%
Duty Gear	20%